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Note : Answer any five questions.

/ All questions carry ‘equal marks.
g * Assume suitahle missing data, if any. .

i'
Q1 Critically examine Herzberg's two factor theory of motivation. Make
ivation theories propounded by

a comparision between the mot
Herzberg and Maslow. Wh:ch of these theories would 'you prefer in the

Indian context? Give reasons.
arning. How does CIaSSICaI condltlonmg helps

Q2 Discuss the nature of le

in learning the desired behavior?
ption. State any three types of

Q3 Describe the process of Perce

perceptual errors.
goods which have been known

T ‘QdA!arge unit manufacturing_ electrlcal
for its liberal personnel policies and fringe benefits is facing the- .
How should the

problem of low productivity and hlgh absenteeism.

management improve the organlzatlonal climate?

Q5 Case study:
sales Manager of Fashion Fabrics, Eastern Region, did

Hiren Dasgupta,
ana, one of his sales

not find the performance of .Harish Mast



jons, Hiren

representatives; upto the mark. On six Sepat:ate O?Cjz‘oprob\ems,

personally discussed with Harish ~ about his \./ar’\O ve his sales

Suggesting ways and means so that he m‘ght, \rr’\,pI’O. h, 1 am not
performance. During the last conference, Hiren said, Hansh',S o
going to have {0 let you go if your sa_\es are not upto quota t l

Harish failed to meet his quota. Hiren could not bear with the's\ftuanic;n
and decided to go for further.action. He wrote Harish a letter in ormKi
him of his dismissal. Three days later, Hiren received a call from Mr. L
Parekh, General Manager — Sales, “ Hiren | want you to put Hans-.
Mastana back on the payroll immediately. You know he is the nephew

i i “1 Wi that
of Mill Mazdoor Union Presedent” “ 0 .K.” replied Hiren, “ | will see
its done “, .

a. What are the authority — power- responsibility relationShip in this-
case ?

b.”What could be the possible impact of these relationships on,thg
functioning of the company.?

Q6 Elucidate the contribution of various disciplines in the field of
organisatinal behavior in detail.

- Q7 How do you feel about having a manager’s responsibility in todays
world characterized by uncertaininty, ambiguity and sudden changes or

threats from the environment? Describe some skills and qualities that
are important.to managers under these conditions.
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g MGT-12 Financia] and Cost Accounting
Time: 3:00 Hours

Ma.x. Marks 60

@ote: .Answer all quesuons Al questlons carry equal marks,

Ques 1 Followmg figures are extracted from the records of a Co for the year 2015-16.
' : Direct materials; Rs 60 000
_ Direct wages: Rs 50,000
"~ Works Overhead Rs 30,000 -
Admin Overheads: Rs 33 ,600
* Selling Overhead Rs 22,400
Distribiition Overheads: Rs 14 ,000 ‘
Profiti Rs 52,500 . - -

. One’ material has been manufactured and supplied to Mr. X, in 201 6-17 for which"fol'lowing'
expenses were incurred: : : " :

Dlrect Matenal Rs 4000 -
Dxrect Wages Rs 2000

In2016-17 works overhead was increased by 20%, distribution overhead hao been decreased
by 10% and selling and admin overhead each were mcreased by 12.5%.

. At what price the above supply is to be billed to Mr. X SO as to earn the same rate of proﬁt on
- selling price as earn in 2015-16. Works overhead are to be calculated on the basis of direct -
labour while other overheadsmc to-becalculated on the bamsof “works: cost.

‘Ques 2(a) Compute Total Assets to Debt ratio from the followmg mformatlon

Share- Capltal 12,00,000° - _ Long-term Provisions: 5,00,000-

Reserves & Surplus: 8, OO 000 Cui'rent-Liabilities: 10,00,000
.Long-term Borrowings: 25,00,000 :

(b) From.the following details, calculate Trade recelvables turnover ratio.”

Total sales for the year (Net): Rs 1,75,000

Cash Sales (Net): 20% of total net sales - p
Sales return-out-of credit sales: Rs 10,000 - .
Sundry Debtors:

Opening Balance: Rs 8 000

Closing Balance: Rs 12,000



; : ~
sales books from the following transactions o Ka])’an .
ilkg -

Quely BRpEEpICIc ﬂndzmg and post the totals in the ledger:

Kochi, Kerala given for April,

2018 3
Purchase from Ram Prasad, Chennat

April 1: a6
P 100 meters silk@-Rs400 per mclr]tztrc |
75 meters Velvet @ Rs 150 per

Plus IGST @ 12%

i i bad:
April 10: Sold to Ratiram, Ahmeda
" 60 meters silk@ Rs 500 per metre

10 meters velvet @ Rs 200 per metre

Plus IGST @ 12 %
i i hi: -
April 12:  Sold to Rama Swami, Koc
10 meters silk @ Rs.550 per metre

10 meters velvet @ 200 per metre
Charge CGST & SGST @ 6 % each.

Roop Naryan and Sons, Kochi-purchase from us:
10.meters silk @ Rs 550 per metre - ]

5 meters velvet @ 200 per metre
Charge CGST & SGST @ 6 % each.
Allowed Trade Discount @ 10% . .

April 18:

April 22:  Purchase from Manmohan Lal, Varanasi: |
o Shirting Cloth Rs 10,000 - . :

Sarees Rs 60,000 .. , B g
Received trade discount 10%, IGST @ 12% - i

: :.;%’ !

April 23 Sold to Brijmohan and Brothers, Mathuira:
Shirting Cloth Rs 7,000
Sarees Rs 25,000
Charged IGST @ 12%

Ques: 4 On 1* April, 2014, X Ltd. Purchased a machinery for Rs, 12,00,000, Op 1 Oct,2016. -
» & part of the machinery purchased.on 1°* April 2014 for Rs 80,000 was sold forRs 45,000 -
... and anew machinery at a cost of Rs1,58,000 was purchased ‘and installed on the sam‘e,,'day;
;{;l;; gf;ncgzﬁﬁt};a;; followed WDV method of deprecngtlon @ 10% p.a. Shpw the necessary
(A)Provision for depreciation account is maintained. | i

- (B) Provision for depreciation account in not maintained,

~ Ques:5 (A) Who are the users of financia] reports?
| (B) Differentiate between cost accounting and financia) accounting

\XXXXX -
\
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sy questions carry cqual marks. Assume suitable missing data,
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1. Attempt any three of the followmg

I leferentlate be « 3 v o ) 2 = e -
)- ekamples » tween market dnven and marketvdnvmg organizations by giving suitable

II) Why do we con31der packagmg as fifth ‘P’ of marketmg?

III) Define ¢ marketmg myopla and summarizes its relatlonshlps w1th rnarketlng concept
V) What are the ma_] or challenges in adoption and implementation of green market1ng‘7

The ex1stmg size of air punfier market in India is expected to be around 200-250 crores. The :
market is dominated by three major brands: Blue Star, Eureka Forbs and Kent. In addltlon to
that, around sixty brands are present in unorganized category All'the brands are collectlvely

~making huge i 1nvestments in educating the customers promotxon and focus on brmgmg the best.
technology In hght of the above facts: : '

D Identlfy the segments that you would like to use for this product

1I) Develop a suitable promot1onal mix for an unorgamzed player operatlng in this category
with estimated budget of ten lakhs. You are frée to make surtable assumptxons _

3. Explain the concept of pricing threshold For each of the followmg category, should a ma.rketer
- use sklmmmg or penetration” strategy? Justlfy your answer by giving suitable exa.mples

_I) -An electnc blanket

ID). Eco fnendly Bamboo Toothbrush with charcoal- mfused Nylon antles

4. What are the phases of Product Life Cycle (PLC)? In wh1ch stage of PLC would you like to
keep: a self dnvmg car, an electric car and a diesel car? Justlfy your answer in each case.

5. How does an effectlve and sound distribution prowde a long term sustamable competmve

advantage to a firm?’ Why do conflicts arise among. channels members of a firm (at vert1cal
honzontal and multl-channel level)" '

6. “The complexity of domg business has grown ‘multi-folds in recent times”. In light of the above

statement, explain how the marketing environment is affecting - ﬁrms operating in automoblle
and retall sector?



Qs. Attempt any TWO questions out of the following:

(a) The electricity utilities charges different prices for electricity in peak periods

and off peak periods. Are they justified in charging different prices? What

pricing strategy do they follow? Critically examine. . [6]
(b) Explain the relationship between Price, elasticity and MR using calculus. Using
the relation between price, elasticity and MR, calculate price that should be

charged by a profit maximizing monopolist when price elasticity of demand =

(-) 2 and MC = Rs. 10/unit. © 343
(c)Can a monopolist incur losses? Explain using diagram. Also explain the
concept of excess capacity. ‘ . : [343]
END
4/
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i ‘ MGT-14 MANAGERIAL ECONOMICS '

Time: 3:00 Hours b Max. Marks: 60
Note: All g\l¢§ti‘,qns‘.fa‘r‘q compulsory. All questions carry equal Marks. Assume

suitable missing data, if any. '

Q1. Adapted from articles in newspapers, India Today, Livemint and Economic

Times, answer the questions that follow:

Profits of Vodafone Idea and Bharti Airtel have been hit and some rivals have gone
out of business since Reliance Industries' Jio Infocomm unleashed a fierce price
war when it entered India's crowded telecoms market in 2016 with free calling and
cut-price data. -

Competition levels in the telecom sector are set to ease significantly next year and
the industry blended average revenue per user (ARPU) likely to recover some lost
ground with Reliance Jio slated to pursue a less aggressive pricing strategy in
calendar 2019, global ratings agency, Fitch said.

Reliance Jio’s disruptive pricing since its entry more than two years ago forced the |
older carriers to match rates tohold on to customers, galvanising consumption of
voice and data services. Fringe players that couldn’t withstand the brutal price wars
exited and the industry consolidated down to three large private players—Vodafone

Idea and Bharti Airtel among the older ones and Jio — making it an ideal market
situation for pricing power to return over time.

Vodafone idea, Bharti Airtel and Reliance Jio accounts for over 90% of the revenue
market share. Yet, the industry is suffering with losses of more than ¥40000crore.
Recently, Reliance Jio Infocomm Ltd has raised basic monthly tariff plans to
account for interconnect usage charges (TUC) that the telecom operator has to incur
for calls made to rival networks.

Analysts said the price rise bodes well for Bharti Airtel and Vodafone Idea which

 have been complaining that current tariffs are unsustainable and price repair must
- happeninthe sector. .
 The rival operators have still not increased their tariffs!

|
: N
| \



as . r d in the above case, answer the

* Considering - the dev
| following: T
(a) Which market structure is represented by Telecom sector in India? Name one.
N most striking feature of this market structure highlighted in above case. [2]

2P

) (b) Which behaviour of Airtel and Vodafone in retaliation io the price hike by
Reliance Jio is highlighted in above case? Explain the impact of this behaviour
using suitable market structure model. g Co4]

(c) What strategic choices are available to Vodafone and Airtel, on one hand; and

Reliance Jio, on the other hand to decide whether they should compete or

informally collude among themselves? Explain with the help of Game Theory.
[6]

Q2. Attempt any TWO questions out of the following:

(a) A decline in price of Xbox 360 game consoles increases the demand for video
games and decreases the demand for PlayStation3 game consoles. Show the
impact on the consumer’s purchase pattern for the two consoles using
indifference curve analysis. Discuss the nature of the two goods. 61

(b) 1f price of good Y is Re. 1 per unit and that of good X is Rs. 2 per unit and
money income is Rs. 20.
i. Draw budget line
{i. Calculate the slope of budget line
iii. Write budget equation :
jv. Show aznd explain consumer’s equilibrium. On this budget line, what is the
slope of indifference curve 2t the point of equilibrium? [1+1+1+3=6]

(c) Calculate cross price elasticity of demand between

(i) Inkpen and ballpen
(i) Inkpen and ink

_ Comment on the nature of goods.

Axter f R
imon
unit/month’ ‘unit/mon!

i 15 2 20
10 1 8
10 -5 9
15 5 10
v [6]

Q3. Attempt any TWO questions out of the following:

(a) How can Learning effect and Economies of Scale reduce cost? Explain using
diagrams. ; ' 61

(b) Explain the relationship between total cost curves and average cost curves
using diagrams. ’ [61

(c)In 50 words differentiate between Economies of Scale-(EOS) and Increasing
Returns to Scale? Explain in detail the factors that result in EOS. [61

Q4. Attempt any TWO questions out of the following:

(2) In studying for an exam, you are very likely to have experienced various
phases of marginal returns. In the light of this statement, discuss Law of

Variable Proportions using diagram. [6]
(b) Give an example of Homogenous Production function. Give the equation and
relate it to returns to scale. [6]

(c) Draw an Isoquant that represent only one method can be used in the production
process. What other cases aré possible? Explain with specific reference 1o
Marginal Rate of Technical Substitution. [61

3/4




[6+6]

Q.4 Answer any two: ,
a) Obtain the regression line for the following data and estimate value -

of y for x = 31. Also, compute coefficient of determination and

comment of the result.
Fx]25]26|27]27|28[29[30]32J
W|27|28|25128|32|32[29|3lJ

b) To better identify its target market, Alfa Romeo conducted a market
research study on a sample of 669 respondents to select one of four
qualities that best described him or her as a driver. Each respondent
was then asked to choose one of three Alfa Romeo models as her or
his choice of the miost suitable car. The purpose of the study was to
determine whether a relationship existed between a driver’s self-
image and choice of an Alfa Romeo model. Test at alpha=0.05

Alfa Romeo Self-Image
Model Defensive Aggressive Enjoying Prestigious
Alfasud 22 21 34 56
Giulia 39 ) 45 42 68
Spider 77 89 96 80

¢) There is a box containing 10 balls distributed as follows,
Three are colored and dotted ; One is colored and striped
Two are gray and dotted ; Four are gray and stripes
i. What is the probability of drawing a dotted ball 7 What is the
_ probability of drawing a striped ball ? _
ii. What is the probability of drawing a gray or striped ball ? What
is the probability of drawing a striped and gray ball 7
ji. Someone draws a gray ball from the box. What is the
probability that it is dotted ?
iv. Someone draws a dotted ball from the box. What is the
probability that it is colored ?
Q5. Write short notes on any two: ! [616]
a) Types of errors in the context of statistical hypothesis testing.
b) Advantages of sampling over population census
¢) Parametric and Non-parametric tests

Total No. of Puges 4,
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MGT-15 Decision Sciences
Max. Marks : 60

'Nofg::Answer.‘ALL questions. All questions. carry-equal marks.
- . Q.1'is compulsory: Selectany.two options out.of the remaining

Use of probability distribution tables is allowed.

i

vi.

Ql.a) You are required to write True/False, choose correct option(s) or

solve or fill in the blanks. [6]
The mean and variance of Poisson probability distribution
function are same. (True/False) _

IfP(A) = 0.2, P(B) = 0.5, P(A |B)=0.6, find P(A-U B).

The total area under the curve for F distribution is equal to——.

A random variable which follows chi-square distribution canmkc

values in the range ==

If X is normally distributed with mean 12 and standard deviation

4, find the value k such that P(X > k) = 0.24

The probability that a consumer will be exposed to an

advertisement for a certain product by seeing a commercial on

television is 0.04. The probability that the consumer will be

exposed to the product by seeing an advertisement on 2 billboard

is0.06. What is the probability that the consumer will be exposed
. to both advertisements ?

b) Compute the mean, 50th percentile, mode and standard

deviation of the following sample data (6]
Irﬁl’:al 250260 | 260270 | 270280 | 280290 | 290-3c0 | 300310 | 310320
Frequency 8 10 16 14 10 b > 2
P.T.O

— 80 —



Q.2 Attempt any two : " [6+6) : st 2o 4 T 5 1 8 1 7 [ & [ 9 [w=
. a) A manufacturer claimed that at least 98% of the steel pipes which C";:;g,,:;” 405 |- 125 [ 540 | -100 | 200 | 30 | 1200 265 90 | 206
h lied ificati : ] =
e supplie to a factory conff)nned to. the specifications. An | Frevious f’“!” 134 | 150 | 520 | 95 | 212 | 30 |'1oss | 300 | 85 | 129
examination of a sample of 500 pieces of pipes revealed that 30 were e
defective. Test this claim at a significance level of
L 005 : e b) A sample of 28 professional working women showed that the

ii. 0.01
b) Figures released by the U.S. Department of Agriculture show that
the average size of farms has increased since 1940. In 1940, the
mean size of a farm was 174 acres; by 1997, the average size was
471 acres. Suppose an agribusiness researcher believes the average
size of farms has now increased from the 1997 mean figure of 471
acres. To test this notion, she randomly sampled 10 farms across
the United States and ascertained the size of each farm from
county records. The data she gathered follow. Use a 5% level of
significance to test her hypottiesis. Assume that number of acres
per farm is normally distributed in the population.
445 489,474,505, 553,477,454 ,463 , 466 , 557

average amount paid annually into a private pension fund pér person
was $3352, with a standard deviation of $1100. A sample of 29
professional working men showed that the average amount paid
annually into a private pension fund per person was $5727, with a
standard deviation of $1700. A women’s activist group wants to
“prove” that women do not pay as much per year as men into private
pension funds. If they use o = .01 and these sample data, will they
be able to reject a null hypothesis that women annually pay the same *
as or more than men into private pension funds? The group assumes
that the two populations are normally distributed and that the”
variances of the two populations are equal.

¢) Club Med has more than 30 major resorts worldwide. Many of the

: beach resorlts are in the Caribbean, and at one point the club wanted
¢) On a given day, the number of pneumatic tubes piled up at the

to test whether the resorts on Guadeloupe, Martinique, Eleuthera,
workstation is determined eight different times and the following

number of tubes are recorded,
23,17,20,29,21,14,19,24
Test whether variance is greater than 4 at alpha = 0.05

Q.3 Answer any two: [6+6]

a) A random sample of 10 viewers of Home Shopping Network was
selected for an experiment. All viewers in the sample had recorded
the amount of money they spent shopping during the holiday season
of the previous year. The next year, these people were given access
to the cable network and were asked to keep a record of their total
purchases during the holiday season. Home. Shopping Network
managers want to test the null hypothesis that their service does not
increase shopping volume, versus the alternative hypothesis that it
does at alpha=0.05. ;

Paradise Island, and St. Lucia were all equally well liked by

_vacationing club members. The analysis was to be based on a survey

questionnaire filled out by a random sample of 40 respondents in
each of the resorts. Analysis of the survey results yielded the
statistics given below. Test at alpha 0.10.

Survey Result
Resort Mean Response
1. Guadeloupe 89
2. Martinique 75
3. Eleuthera 3
4. Paradise Island 91
5. St. Lucia 85
ANOVA Table
Source of Degrees of .
Variation Sum of Squares Freedom Mean Square F Ratio
Treatment |
Error 195
Total 112,564




the actual numbers s presented below (Positive test result implies disease).

Compute Sensitivity, Specificity and Precision. 3 Marks
_ ’ Truth
Disease Non Disease

Test Result Positive - 10 (True +ve) 40 (False +ve)

Negative 5 (False -ve) 45 (True -ve)

6.Write short notes on any two of the following: 5X2 =10 Marks

i. Different forms of models in business analytics and types of inputs to
decision models,

ii. Major tasks in data pre-processing in a business analytics project

iii. Definition of business analytics as per your understanding supported with
an example

iv. An example of multiple linear regression model with two independent
variables and assumptions of linear regression model ‘

Total No. of Pages 4 s Roll No. ......
THIRD SEMESTER MBA
L
END SEMESTER EXAMINATION NOV-2019
1 MGT-31 BUSINESS ANALYTICS
. Time: 3:00 Hours "Max. Marks: 50
Note: Attempt five questions in all. Section A is compulsory. Assume suitable missing data, if anﬂ
Use of calculator is allowed.
SECTION A
1. You are required to write True/False, choose correct option(s)" or solve or fill
in the blanks. Each of parts i to x is of 1 mark. 10 Marks

i.  Which of the following techniques is an unsupervised learning algorithm?
(a) Logistic Regression (b) Multiple linear regression
(c) Clustering (d) Non-linear regression

ii. If there is problem of auto-correlation in a regression model, the regression
coefficicnts shall not be BLUE (True/False)

iii. Presence of Auto-correlation in a regression model is tested using:
(a) Durbin-Watson statistic (b) Wald’s statistic
(c) F- test (d) Chi-Square Test

iv.  Variance Influence Factor is used to identify --=-=ssssmeveseev

v.  The clusters should be so formed that the objects within a cluster are
homogenous (True/False)

vi. Integer Programming problem is an example of -—--- --analytics.

.. (Descriptive or Prescriptive or Predictive)

vii. If the Pearson correlation coefficient between two variables is. positive then

“ the covariance between the variables is -——(Positive/Negative)

viii. In alogistic regression, the logit function is:
Log [ P(Z=0)/ ( 1- P(Z=0) ) ] = -1 + 0.35X. Then the equation for logit
function Log [ P(Z=1)/ ( 1- P(Z=1) ) ]is: (write the steps of solution)

a. -1-035X (b) 1-035X () 1+035X
" ix. Inalogistic model, the statistical significance of 2 predictor variable is l
tested using: ==
(2) Omnibus test (b) Wald's test (c) F-test (d) t-test o
x.  Regression algorithms are —-----—====----—- (supervised or unsupervised)
learning algorithms. \



3 SECTION B
2. [i] An online store sells products under 8 categories labeled: L1, L2, L3, L4,

L5, L6. L7 and L8. The past purchase details of 4 customers (C1, C2, C3, C4)
are given below: C

-

Customer Product

U 12 13 (14 [15 |16 [17 Jus
C1 1 0 0 1 1 0 1 1
Q2 1 0 1 1 1 1 0 0
a 0 |1 i, 0 0 0 1 1
ca 1 10 fo 1 |1 Jo |o |o

where aj=1 if customer i purchased product j

=0 otherwise
Use Jaccard coefficient to find customer who is closest to C1. S Marks
(ii} Customer feedbacks (on a 5 point scale ) on 5 training programs
(T1,T2,T3,T4,T5) by 3 customers (C1,C2,C3) is provided below. Use Cosine |
similarity to identify customer who is closest to Customer 1 (C1):

\Cumm | Feedback on Training Programs |
Im 2. 1w (15 |
a 12 14 12 1a 13 |
(e 1a 13 12 f2 15 |
lea 131 T2 13 12 (&
Use Cosine similarity 1o identify customer who is closest to customer 1 (CD).
‘ 5 Marks
3. (i) Two University departments, which are maintaining data in the excel files,
are 10 be merged. It has been decided to now maintain data in the form of a
datzbase, What are the issues which are likely to be faced during data

integration. Explain with illustrations. 5 Ma_rks
(ii] The following are sample wples from employee database of an organization:
Name Dateof D3ateof Moblie Division | Monthly Blood
Eirth Jolning Code Salary (lakhs) | Group
flajesh | 01-07-1534 | 01082017 | 5876542385 | HR 2 O+
Mukesh | 01-05-1532 | 03082015 | 5834278545 | N ! 3 B+

Specify attribute type for each attribute, What type of transformation is
possible on each attribute type? 5 Marks

4.[i] What is the purpose of ‘Binning’ in Data pre-processing . Sixp
for analysis include the attribute ‘marks’. The marks values are:
8,16,9, 15, 21, 21, 24, 30, 26, 27, 30, 34

Use smoothening by (i) bin means (ii) bin boundaries to smooth these data, using a

bin depth of 4. Comment on the effect of this technique on given data. 5 Marks

[ii] Data in respect of five persons with respect to three attributes is given in the
following Table:

Height ' | Score Age(2)

[ ) il N
64 580 29

66 570 33

68 590 37

69 660 46

73 600 55

-Use Mahalanobis Distance to find how far another person V = (66, 640, 44) is

from the above data given the inverse covariance matrix as follows: . 5 Marks
|
X Y Z
X 3.6885
Y 0.0627 0.0022
Z -1.2821 -0.0240 | 0.4588

5. [i] The hybothetical performance level distances between pairs of- five
students wh'q joined an institute to learn French language are given in the
following matrix. Use single linkage hierarchical clustering algorithm to form

clusters and present in the form of a dendrogram. 7 Marks
Objects |1 [2°[3 [4 |5
1 0
2 10 |0
3 4 |8
4 7 |6 [10]0
5 12 11 [3 J9 Jo

[ii] 100 persons dre tested for disease. In actuality, out of these 100 persons, 15
people are diseased and 85 non-diseased. The outcome of test results against
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Note : Answer 4 out of 5 i i
swer 4 out of 5 question. Question 1 is mandatory:
Assume suitable missing data; if any. i

Q.1 Read the case and answer the following questions
[a] Explain with an example “bounded awareness” and “‘bounded

ethicality”. S Marks
[b? Explain from the case 4 steps that organizations can take to
increase ethical behaviour. 5 Marks

[c] How Nin_a Mazar increased premium of insurance firm. 4 Marks

Q.2[a] Generally Morality in both individual life and social life is mostly
based on fear of societal censure. Ethics according to Swami.
Vivekananda Ethics was nothing but a code of conduct that helps a
man to be a good citizen. We should be pure because purity 1s our
real nature, our true-divine Self or Atman. Do you agree? ‘

s | 4 Marks

[b] Differentiate between Managing Director and CEO. Can one

person hold both designation? ' 4 Marks -

[c] Discuss the role of SEBL. 4 Marks



—1%—

jrectors. Discuss the role ¢
a

s of d
6

fferent type
governance-_

Q.3[a] What are the di
orporate

board of director in ¢

Marks ‘ : -
g be solved 'by Corporate * ggq:
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HowtolIncrease
Ethical Behaviour
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Encouraging peoplfa to develop a vigilant mindset can go a long
way towards reducing unethical behaviour in organizations.

by Ting Zhang, Pinar Fletcher, Francesca Gino and Max Bazerman

FOLLOWING THE COLLAPSE of the world’s largest Ponzi scheme in
2008; clients.of Bernard-Madoff Tnvéstment-Securities lost an
estimated $65 billion in unrealized gains. In hindsight, investors
derccted major alarm bells that signaled Madoff s returns were
too good to be true: They were impossibly steady andhigh,at 11
per cent per year, never experiencing a downyear, and were con-
sistently higher than those of the S&P 500 index, with surpris-
ingly littlevolatility. e

Madoft employed a small, three-person auditing firm that
had only one active principal accountant; the other principal
was an 80-year-old retired accountant living in Florida. He was
extremely secretive about his investment strategy and selec-
tive about who could invest in his funds. Despite thesetelltale
signs of fraudulent behaviour, Madoft's Ponzi sclieme was not
uncovered for more than a decade—a fact that surprised even
Madoff himself. Although a few investors suspected something
was up, many — including those with extensive knowledge of
finarice — were either completely blindsided or failed to act on
their suspicions. :

Behind this scandal were two groups of individuals who contrib-
uted to the growth of the Ponzi scheme:

1. The perpetrators, who knowingly committed unethical acts.
including those at Madoft Investment Securities who ere-
ated fraudulent records of non-existent transactions; and

2. Theinvestors, advisers and regulators who had the exbcrtisc
and fiduciary responsibility to derect tmudulent behaviour
— but failed to do so. ’

This artide will focus on the latter group, in an eflort under-

stand the factors that can help people notice unethical behaviour
— and act on their suspicions.

Ethics at Work: Key Findings to Date

Large-scale scandals including Madofi. Enron and Worldeom
typically have a few *bad apples’ at the core, but are enabled by
a larger group of individuals who fail to notice and act — €ven
when there are strong hints of wrongdoing. This has motivated

munanmégazine.ca 169
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) e,;zio"‘al acts of cheating. These behaviours fall under the
Sder category of bounded awareness — a state in which we sys-
pro stically fail to notice rclgvant information that falls outside of
attention at the time of making a decision. '
our o dividualscanalso'echibitboundedcthicaliry,mnldng uneth-.
jcal decisions that are outside of their own awareness and incon-
;istmt with their consciously-held values. Both operate at an

— 1 b —

interest can operate outside of an individual ~s awareness. Audi-
tors, for instance, may exhibit bounded ethicality when they fail
torecognize how the promise of becoming a future employer for
the audited firm precludes them from makin gimpartial audits.
Because these biases operate at an implicit level. interven-
tions that would be aimed at addressing inte ntional acts of cheat-
ing do not necessarily apply. Therefore, scholars are developing

- ascious level: Individu- als are not aware of how the biases
hat arise from their limited capacity to notice key information-
i gencetheirjudgments. :

Examples of bounded ethicality include implicit prejudice
nd conflicts ofintg-cft I?ven individuals who espouse equality
ond diversity might discriminate based on gender or race with-
outtheirawareness. Suchimplicitbiases stem from stereotypical
associations that even individuals who consciously strive to be
gnbiased have difficulty overcoming. Furthermore, conflictsof

interventions aimed at mitigating them. For example, recent re-
search has demonstrated that employers evaluating candidates
separately exhibited a gender bias: They were more prone to hir-
ing men for math-related tasks and women for verbal-oriented
tasks, even when gender did not predict performance on these
tasks. In contrast, behavioural economist Iris Bohnect ct al.
found that evaluating male and female candidates joint/y rather
than separately eliminated reliance on gender stereotypes in hir-
ing decisions.

 towards more authentic behaviour. _
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izational contexts, our findings high); thIhicali’!
ingly-attractive options?2 i B e ol vigilance in helping indivig - nhcval""
To help us understand how creating a vigilant mindset ai- ufpwaet-wely—tljllsm%;;ﬁm-‘aws COnsidc
fects the ability to notice elements of unethical behaviour and reasons nottotakeap n. —
act on critical information, participants in our study played the

Although increasing vigilance prior to makin
- . *
role of a financial advisor in an investment game. ‘Advisors

l

. . & 2 degigy,
decreased individuals® propensity to select Madoff fung, o/
were asked to select one fund to recommend to a hypothetical indicated, m?r? than l.lalf of the individualg .sml recommcnd:-:f
client from a pool of four funds. Unbeknownst to participants, it. Clearly, vigilance is not enough. F ollowing a
the fund with the most attractive risk-return profile— Fortitude

T€ SOme ofh,!
proven tools that can complement a vigilant mindser, i

Investments’ — was based on Madoff’s feeder fund. )
Inaddition to charts and graphs, individuals could also read

-the fine'print that contained important information about each  Althoughthismightseem obvi ous,many people fail to recopr;

fund. Forthe disguised Madoff feeder fund;the additional facts -~ that they-can_obtain more information than what s in frontg

informed advisors that the fund was exclusive to investors with them:Imaginethatyouare concerned thatasupplieryousree

strongrelations to the fund, opaque on disclosing its investment sidering for your company is using child labour. Directly askix
strategy, and maintained unconventional auditing Ppractices. ‘Do you use child labour?* is unlikely to be effective, but aski
Participants who ignored this information and selected Forti- multiple related questions can help you determine whether s
tude Investments lost all of their clients’ money atthe end of the supplieris violating laws. Questions like, Canyoubreak downt
hypothetical four-year investment period. cost of materials and labour for me? How long does it takeex
So, what percentage of individuals selected Madoff’s feed- workerto produce the product? Can you provide demographics

er fund —despite having access to critical information about the your workers?, and Can you tell me how you manufacturetht

fraudulent nature of the fund?

products? may indicate whether suspicion is warranted. Youm
The answer depended on whether the *advisor® selected the realize, for instance, that it js impossible for the numberofwo
fund that appeared ‘most suspicious’ to them before or after they ers provided in their figures to produce all of products mand
madetheirdecision forthe client. Thosewho madeaninvestment
decision for their client before contemplatin

tured, suggesting under-reporting of the number of employ®®
g their suspicions
selected Madoff’s feeder fund 68 per cent of't

h de their decisi . . he t'fne; Wwhereas "TRIANGULATE' ON THE FOCAL ISSUE WITH MULTIPLE SOURCES
those who ade their decision affer determining which fund was Sometimes, invest; gating one source is not enough. Tz’
the most suspicious selectedthe fund 51 per cent ofthetime. tion® is a powerful technique that consists of verificatior®
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Most people don’t notice when someone answers a slightly
different question from the one that was asked.

©

10 OF MOTe sources. The idea is that one can be more confident
witha resultif different methods lead to the same result.

when asking multiple sources the same question, are the

i cwers congruent with one another, or do they conflict? For ex-

_gmples consider the scenario thatyouare concerned asupplieris

using childlabour.Ifmultiplesourcesreveal conflictingnumbers -
gbout the number of employees working at the company, you

have reason to be more suspicious. Inconsistency is often asign
that suspicion is warranted.

3 ATTENDTO “ARTFUL DODGES’

When people a}c asked questions that could reveal the unethi-
calnatureofa s_ftuation,thcy often give ‘non-answers’ in orderto
deflect attention away from the issue of concern. Such “‘dodges’
arc signs that suspicions are warranted. For example, an indi-

vidual who does not want others to know about the use of child

lzbour may direct discussion to the quality of products or mate-
rials when asked about the low cost of labour. Research shows
that individuals tend to not notice when others are answering a
slightly different question from the one thatwas asked. One way
1o detect artful dodges is to remember the original question and

1o think critically about whether the answer, provided truly ad-
dressesthe focal question.

4. LEAVE MORE TIME TO DECIDE™

After gathering all relevant information, leaving time to decide
can prevent you from overlooking critical information. In a fa-
mous experiment, theological seminary students were asked
to give a lecture. Some of the priests were told that they needed
to hurry in order to arrive at the building on time, whereas oth-
ers were told they had plenty of time. On their way over to the
lecture, a1l of the priests passed by aman slumped over, who ap-
peared to be in need of medical attention. The priests who were
not in a rush were more likely to help the man; while thoseina
rush weremorelikely to pass by without evennoticinghim. Time
constraints proved to be an even bigger deterrent of helping be-
haviour than the content of the talk: Some of these seminary stu-
dentswere on their way to give a talk on being a Good Samaritan.
As this study indicates, when people are in a rush, they a) donot
have enoughtimeto do any additional investigative work, and b)
fail tonotice even when obvious information is in front of them.

In closing

By embracing avigilant mindsetas a ‘default state’, managersin
any industry can develop a keen ability to notice unethical be-
haviour. In our view, this is a critical step towards reducing both

bounded ethicality and bounded awareness in modern organiza-
tions. RV

sy= TingZhangisan AdjunctAssistantProfessor
¥ of Management at Columbia Business School.
3 PinarFletcherisabehaviouralscientistwho
received her doctorate from Harvard Business
School. Francesca Ginoisthe TandonFam-
ily Professor of Business Administration at
HarvardBusinessSchool.MaxBazermanis
the Jesse Isidor Straus Professor of Business
Administration at Harvard Business School

“Reducing Bounded Ethicality: How to Help Individuals Notice and Avoid

Unethical Behaviour™, which was published in the journal Organizational
Dynamics and can be downloaded online.
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technology leader. SE’s goal wefxs‘” not to copy technology innovated by Sony,
Matsushita, Phillips, and Nokia but for SE’s engincers to develop the research and
engineering skills necessary-to rqf)idly innovate leading-edge technologies, such
as LCD displays, to create products more advanced than its competitors. Within a
decade, SE became the leading supplier of advanced flash memory chips and LCD
screens, premium-priced products|that it sold to other global electtonics makers,
including Japanese flat screen TV} ma ‘ |
of a new competence in global marketing an important part of its business model.
For example, while Nokia was the{leading cell phone innovator, Samsung was the
first to realize customers wanted?c:::olor screens for their phones to allow them to
play games and built-in cameras to'send photographs to their friends. Both of these
incremental advances allowed Samsung to dramatically increase its share of the
cell phone market. In 2009, it wasiﬂle second-largest cell phone maker after Nokia.
By 2007, Samsung had become; [(:?Qe of the most innovative -global electronics
makers with its four research dilj\'i‘sions: semiconductors, telecommunications,
digital media, and flat screen LCD displays. In 2008, however, SE, like most other
electronics companies, was force]d:to restructure its business divisions because of
-the global recession. The problem facing SE and other global electronics
companies, such as Sony, was hoﬁ;to grow while simultaneously reducing its cost

structure and increasing its technological edge. In 2009, Samsung’s new CEOLee -
Yoon Woo announced a major| Testructuring that would consolidate its four

divisions into two to reduce co‘sk but still speed product development. SE’s
semiconductor and LCD displaf businesses were combined into a new Device
Solutions. Division, and its televisions, mobile _phones and other consumer
electronics, such as printers and cjmputers were placed in the Digital Media and
Communications Division. In ah@ition, it is. important to note that Samsung
Electronics is only one division ofjthe Samsung Corporation, the parent Samsung
Corporation has dozens of divisions
shipbuilding, construction, life inst\‘france, leisure, and so on—in fact, the Samsung
empire accounts for 20% of South l}(orea’s total exports.
(8) What type of corporate level %trategies (growth strategies) the company has
" been pursuing? I L o ©)
(b) Inwhat ways has Samsung’ls!mu]ti-business model changed over time? Why
did its top managers make tthe changes? e _ 3)
(c) . What type of restructuring strategies the company has implemented? 2)
(d) Identify the resources, capabilities, and distinctive competencies of Samsung
Corporation. In your opinion, will they be able'to achieve sustainable

competitive adyantage with their current business model. Suggest: ) .

\END
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S MGT 33: STRATEGIC MANAGEMENT
2 Max Marks: 60

“Time: 3 hours

Instructions: Answer qil questions by selecting a'ny two parts from eaclt question
(Q.No. 1-4). Question No. 5 is compulsory. All questions carry equal marks.

l(a) Best Buy is the largest consumer electronics retailer in the United States. The

company competes aggressively on price with such rivals as Costco Wholesale,
Sam’s Club, Walmart, and Target, but it is also known by consumers for its first-
rate ‘consumer service and kriowledgeable staff. Best Buy consumers also’

" appreciate that demonstration models of PC monitors, digital media players and

-other electronics are fully powered and ready for in-store use. Best Buy Geek
‘Squad tech support and ‘installation services are additional customer service
features that are 'valued‘ ‘by many customers. How would you characterize Best
‘Buy’s’ competitive Strategy? Explain your answer by. giving advantages and
disadvantages of this strategy. 6)

1(b) “Good strategy execution requires a team effort. All managers have strategy
executing responsibility in their areas of authority and all employees are active
participajts in the strategy execution.process.” In the light of the above, discuss in
brief, various measures which management should take to execute strategy. (6

1(c) Assume that you are in- charge of developing the strategy for a multinational
company selling the products in some 30 different countries around the world. One
of the issues you face is whether to employ a multicounty strategy, a transnational
or a'global strategy. Explain which strategy would make sense in case of the
“following products and why? :
i.  Mobile phones ~ ii. Footwears ~ ili. Movies (6)
2(a)(i) Why do pioneering companies often unable to create a business model that
allows them to be successful over time and remain the market leaders? ®)

2(a)(ii) Explain the kind of corporat¢ level strategies which might be used in the
following cases: '

v Arvind forays into e-commerce space’ with custom clothing brand
g . 'Creyate". :

ifi. ~ A leading FMCG company has decided to reduce its investment in a
' particular product to extract maximum profit from its sales.

1
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/‘/O 2(8) “During 1980s, Disney’s transformation was based not only on sttfzitegies that
/ 100k advantage of the company exiting resources and capabilities 'but also on
strategies that built new resources and capabilities.” In the light of the above
statement, explain the role of resources and capabilities in determining relationship
between Distinctive competencies and strategy. . 6)

2(c) Assume you are in mobile phone industry in India. On the basis of CAGE
framework, rank the following countries in which you should expand out of
Malaysia, Australia, Bazil, and Chiina. Explain with suitable reasons. 6)

3(a) “A mature industry is commonly dominated by a small number of large
companies whose objective is to collectively reduce the ‘strength of industry
competition to preserve both company and industry profitability.” Explain the -
alternative strategies such companies can adopt to achieve theabove said
objective. 6)

3(b) Explain the type of offensive tactic highlighted in the following situations:
i. Microsoft Corp. is offering free licenses for its database 'software to current
Oracle Corp. customers in its latest effort to wrestle market share from its
competitor.
ii. Procter & Gamble began a program of extensive market research to promote its
spray cleaning product called Cinch. Wilson Harrell; owner of Formula 409, knew
that Procter & Gamble would perform test market research. He began a program
where he reduced advertising expenditures in Denver and stopped promoting his
Formulza 409. P&G immediately begin a national sales campaign. However, before
the company could begin, Harrell introduced a promotion of his own. He took the
Formula 409 sixteen-ounce bottle and- attached it to a half-gallon size bottle. He
then sold both at 2 significant discount. This quantity of spray cleaner would last
the average consumer six to nine months. As a result, the market for Procter &
Gamble’s Cinch was significantly reduced. .
iii. In 1980s, Canon took over Xerox’s copier market by focusing on small size
copier market that could not afford Xerox’s large copiers. ‘ . 6

3(c) “Harley Davidson, GM, Walt Disney, and Digital Equipment-Corpor’ation
(DEC), among many others, which zll at one time were held up as an example _of
managerial excellence, have gone through periods where ‘their financial
performance was poor and they clearly lacked any competitive advantage.” In the

2
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“competi Cadvaniage?

4[(:1) Identify the following products.of ITC in which quadrant of BCC'iV matrix do
they fall into and why:

i. ‘FMCGFood

i iii. Hotels
il. FMCG cigarettes

iv. ITC Infotech " (6)

4(b) Identify and explain Porter’s generic competiti\'le business level strategy used
in the following situations:
i, Dell computers has decided to rely exclusively on direct marketing.

ii. Our basic strategy was to charge a price so low that micro compyter makers
couldn’t do the software internally for that cheaply. vy

jii. ‘Disney channel’ a TV channel has identified a profitable audience niche in

the electronic media. It has further exploited that niche through the addition

" of new. channels like ‘Disney Junior. g (3*2=6)

4(c) “A brilliant strategy can put a firm on the competitive map, but only solid
execution can keep it there.” In the light of the statement, explain the difference
between strategy formulation and strategy implementation? 6)

5. Case study
In the 2000s, Samsung Electronics (SE), based in Seoul, Korea, became the
second-most profitable global technology company after Microsoft. SE
accomplished this when its pioneering CEO Lee Kun Hee decided to develop and
build distinctive cbmpetences first in low-cost manufacturing, second in R&D, and
then in new production in new industries. SE’s core industry is the consumer
electronics induét’ry. In the 1990s, its engineers studied how Japanese companies,
Sony and Panasonic, innovated new products. Then, SE’s engineers copied
Japanese technology and used their low-cost skills to make lowpriced versions of
the products that they could sell at lower prices than the Japanese companies. For
example, SE decided to enter the cell phone industry and make lower-cost phones
than companies such as Nokia and Motorola. SE also entered the semiconductor
industry in which it worked to make the lowest-cost memory chips; soon it became
the global cost'leader. SE also entered other digital-product markets such as
cameras, printers, and storage devices. SE’s strategy was suc¢essful and profitable, -
but it was not playing in the same league as Sony, for example. Sony could charge
premium prices for its leading electronics and continuously plowback profits into
the R&D needed to make more advanced state-of-the-art electronics. CEO Hee
decided to adopt new strategies that would allow his company to compete head-
to-head with Japanese and European electronics companies and make it a global
3




given' stock price? Briefly discuss how two stage DDM improves upon the
Constant growth DDM. (6+6)
5) a) Distinguish and describe each of the following performance measures: i) The
Sharpe Ratio, if) Treynor’s measure and iii) Jensen’s alpha.

b) An analyst wants to evaluaté portfolio X consisting entirely of US common
stocks, using both the Treynor and Sharpe measures of Portfolio performance. The
following table provides Return, SD and Beta during past 8 years of each:

Avg. return | SD Beta
Portfolio X L 10% 18% 0.6
S &P 500 | 12% 13% |
T-bills . ! 6% | NA NA

Calculate Treynor and Sharpe mieasures for both: Portfolio X and the S&P 500. ‘

Explain: the performance of the bortfolio X vis-a-vis S&P 500. Also explain the

" reason for conflicting results in pérformance using Treynor’s vs Sharpe’s measure.
| (6+6)

6) Write short notes on any three:|

a) Support and Resistance levels ;

b) Challenges to technical Uadiné rules
¢) Candlestick charts

d) Relative strength Index

e) Purpose of bond ratings

f) Immunization (4x3)

XXXXX,
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[Note: Answer any five questions. Assume suitable missing data, if any. |

1 a) “Young People with little wealth should not invest money in risky assets such
as the stock market because they cannot afford to lose what little money they

~ have.” Do you agree or disagree with this statement. Give reasons.

b) Your healthy 63 year old neighbor is about to retire and comes to you for
advice. From talking with her you find out that she was planning to take all her
money out of hér company’s retirement plan and investing in Bond Mutual funds
and Money market funds. What would be your advice to her?

¢) LIC Mutual fund has a portfolio of Rs.450 mn and liabilities of Rs.10 mn. If 44
mn shares are outstanding what is NAV of the fund? If a large investor redeems
1mn. shares, what happens to portfolio value, to shares outstanding and to NAV.
@x3)
2. a) Briefly explain the concept of Efficient market hypothesis and each of its
three forms.
b) Briefly explain two major role or responsibilities of portfelio managers in an
efficient market environment?

¢) The correlation coefficient between pairs of stocks is as follows:
i) Corr(A,B) = .85

ii) Corr(A,C) = .60
iii) Corr(A,D) = 45

’
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Each stock has an expected return of 8% and SD of 20%. If your current portfolio

consists of only stock A and you can add some of only one other stock to the
portfolio, which stock would you choose and why? (4x3)

3) a) Mr. John is considering the purchase of one of two bonds described in the
following table. John realizes his decision will depend primarily on effective
duration and he believes that interest rate will decline by 50 basis points at all
maturities over the next 6 months.

rticulars ABC PQR
Market price 101.75 101.75
Maturity date 1-Jun-22 1-Jun-22
1-Jun-17

all date Non- callable

3nnual coupon 5.25% 6.35%
interest payment | semiannual I |

Effective duration 735 5.4
YTM 5.02% 6.10%
credit rating A A

Caleulate the percentage price change forecasted by effective durafion for both the
bonds, if interest rate declines by 50 basis points over the next 6 months,

b) An insurance company must make payments to a customer of Rs.10 mn in one
year and Rs.4 mn. In 5 years. The yield curve is flat at 10%, If it wants to fully
‘fund and immunize its obligation to this customer with a single issue of Zero
coupon bond, what maturity bond must it purchase? Also explain in brief the
relevance of yield curve for 2 bond manager, (6+6)

4) EDM is 2 large , diversified forest products company. Approx. 75% of its sales
are from paper znd forest products znd remainder from financial services and real
estates, The company own 5.6 million acres of timberland which i; carried at very
low historical cost on the balance sheet. Suppose you are an analyst at the
investment counseling firm, Centurion Investments and have been given the task
zssessing the outlook of EDM, which is being considered for purchase and
comparing it to another forest company SHC in Centurion’s por[folio.. SHC is a
major producer of Lumber products in US. Building products, pn’ma.nly lumber
and plywood sccount for 89% of SHC's sales with pulp accounting for the

remainder. SHC owns 1.4 mn acres of timberland which is also carried at historical
Page20f4

cost on the Pélance sheet, In SHC’

current market compared to ED.

s case however the cost is not as far below as

FY 2018 amount ( $millions) | Fy 2018 amount ( $milllons)
Income statement (ED) Income stat (SHQ)

‘| Sales 7406 | Sales 1793
EBIT 795 | EBIT ‘145
Interest exp (net) -195 | Interest exp (net) -8
EBT 600 | EBT 137
Taxes -206 | Taxes -46
Taxrate 34% | Taxrate 347]
Netincome 394 | Netincome 91 '
Preferred Dividend 0 | Preferred Dividend ﬂ
Net income to Equity SH 394 | Netincome to Equity SH m
Common shares Ols(mn) . 201 | Common shares 0/s(mn) 5’
Balance Sheet Balance Sheet 7
summary(ED) summary(SHC)

Current assets 1367 | Current assets Sm
Timberland assets 615 | Timberland assets Sm

a2 property, Plant and I
property, Plant and Equip. 5854 | Equip. 1037
other assets 429 | other assets 40
Total assets 8265 | Total assets 2104
Current liabilities 1816 | Current liabilti 195
Long term Debt 1585 | Long term Debt 589
Deferred taxes 1000 | Deferred taxes 153
Equity(preferred) 0 | Equity(preferred) 0
Equity(comimon) 3864 | Equity(comimon) 1167

Total Liabilities and
Total Liabllities and equity 8265 | equity 2104
closing share price($) 22 | closing share price($) 27
!

a) On the basis of data given above calculate each of five ROE components for
both the companies in 2018, Using the five components, calculate ROE for both
the companies in 2018. Explain the difference in ROE of two companies, if any.

b) Using 11% as the required rate of return and a projected growth rate of 8%,
compute a constant growth DDM value for EDM and SHC and compare it with its
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SEMESTER I - ‘ s * " MB.A.

- END SEMESTER EXAMINATION | Nov/Dec-19

. MGF 02: TAX PLANNING AND MANAGEMENT
Time: 3hours - . o, ~ Max Marks: 60
Instructions: Answer all question.'s'.by' selecting any two parts from
- each question (Q.No. I-4). Question No. 5 is compulsory. All

questions carry equal marks. . : '
1(a) Explain with reasons whether the following tranSactions attract

income-tax in I_ndia in ﬂlé hémds of reci.pients?' ¥ ~

i Salary paid to Mr. David, a citizen of India 15,00,000 by the Central
Government for the services rendered in Canada.

ii. Legal charges of 7,50,000 paid to M. Johnson, a lawyer of London,
who visited Incliia to represent a case at the Supreme Court.

iii. Royalty paid to Rajeev, a non-resident by Mr. Mukesh, a resident
for a business-carried on in Sri Lanka. )

iv. Interest received of 1,00,000, on money bortowed from France, by
Ms. Dyana, a non-resident for the business at Bangalore. |

v. Mr. X has received gift of 6,000 in cash on his birthday from each

of his eleven fﬂends.

vi. On the occasion of her marriage on 07.09.2018, Neha has received -

1,20,000 as gift out of which 85,000 are from relatives and balance
e » (6)

_from friends.

JETENO

1(b) Mr..Ajay has incomes as given below:
-Income under the head house.property. 15,00,000
_Gift of a painting from a friend with-market value 2,00,000
_Gift of shares and securities from Mrs. X valued 3,00,000
-Income under head salary 3,00,000 . '
~ He has paid advance tax as given below:
- Upto 15th June 2018 15,000, Upto 15th Sept 2018 30,000
Upto 15th Dec 2018 50,000; . * Upto 15th March 2019 60,000
" Balance amount of tax was paid-and return of income was filed on 10%°

<k
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~ Sept 2019. Compute his tax liability for the “Assessment Year 2019-20

and also interest under section 234A, 234B and 234C. (6)

1(c) Mr. X owns a residential house in Delhi. The house is having two,
identical units. First unit of the house is self-occupied by Mr. X and
another unit is rented for 55,000 p.m. The rented unit was vacant for
three months during the year. The particulars of the house for the
previous year 2018-19 are as under: ' :

Standard Rent : 11,20,000 p.a.
Municipal Valuation ~10,44,000 p.a."
Fair Rent 11,35,000 p.a.

Municipal tax paid by Mr. X 12% of the Municipal Valuation
Light and water charges 800 p.m.
‘Interest on borrowed capital 2,000 p.m.

Insurance charges 13,500 p.a.

Painting expenses - 16,000 p.a.
Compute his income and tax liability of Mr. X for the assessment year
2019-’70 _ : - ©6)

2(a) Mrs X has let out one residential house property @ 1,00,000 p.m.

and she has paid municipal tax. of - 1,00,000. She has taken a Medi- . -

claim policy on 17.07.2018 in the name of Mr. X and pa1d premium of
18,000 by cheque. She has incurred 21,000 on the treatment of her
brother who is dependent on her and suffering from severe disability.
She has purchased N.S.C. in P.Y. 2016-17 and there is accrued interest
of 30,000 and also there is accrued interest of PPF 10,000. She has
taken Jeevan Suraksha Policy in the name of Mr. X and paid premium
of 19,000. She has taken a loan in 2012-13 from SBI for the education
of his son who is studying in B.com (Hons) in SRCC and she had paid
principal amount of 60,000 and interest 10, 000 in P. Y 2018- -19,

She has Agricultural Income 1,00,000

Compute her Income Taxable Income for the A.Y.2019-20. (6)
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for the Assessment Year 2019-20. Assuming employee not covered
under Payment of Gratuity Act 1972. )

: ©
S. Write short notes on the following: . i
' (a) Tax deducted at source

O (b) Tax Planning, Tax Avoidance and Tax Evasion

(¢) Treatment of 'dcprcciation’

7 He has donated 30,000.t0 a

under incomie  from
Business/Profession ) . (3*4=12)
Table 1: . )
Cost Inflation Index
Financial year ) Cost Inflation Index =,
20012002 . : 100
2002-2003 105
20032004 109
2004-2005 13
2005-2006 . 17 S
2006-2007 122 ]
2007-2008 129 N
2008-2009 13 |
20092010 148 |
2010-2011 167 |
20112012 184 -
2012-2013 200
2013-2014 - 220
2014-2015 : 40 -
20152016 254
2016-2017 264
2017-2018 m
2018-2019 ; 280
END
1
Page 6 of 6
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2(b) Mr. Atul has received

' . income of 8,00,000 in Gonnection with his
business. Other information is as given below: *

political party by cheque.
-'He donated 10,000 by ch ity

cque to Delhi University notified under
section 80G )

- He paid premium of medi-claim policy 6,000 by cheque in the name
of his major matried independent son. :

- LIC premium paid 25,000 on 15.01.2019. (Policy value 1,00,000)

- Repayment of housing loan to Indian Bank 50,000

- Payment made to LIC pension fund notified under section 80CCC
20,000 .

Compute income tax liability for A.Y 2019:20. ©)
2(c)(i) Mr. X, a mentally retarded minor, has a total income of 1,20,000
for'the assessment year 2019-20. The total income of his father Mr. Y
and of his mother Mrs. Y for the relevant assessment year is 2,40,000
and 1,80,000 respectively. Discuss the treatment to be accorded to the
total income of Mr. X for the relevant assessment year.

2(c)(ii) Mr. X has transferred through a duly registered document the
income arising from a godown, to his son, without transferring the

godown. In whose hands will the rental income from godown be
cha}'_ged? (2%3=6)

3(aj The following are the details relating to Mr. John, a resident
Indian, aged 57, relating to the year ended 31.03.2019:
Income from salaries

2,20,000
Loss from house property '(1,90,000)
Loss from cloth business (2,40,000)
Income from speculation business 30,000

Long-term capital gains from sale of urban land ; 2,50,000
LT capital loss from sale of listed shares (STT paid) 90,000
Loss from card games

(32,000
Income from betting 45,000
Life insurance premium paid 1,20,000

Page3of6
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- Compute the totaI income and show the 1tems eligible for carry A

forward. ©)
3(b) () Mr. X submits his return of income on 12.09.2019 for AY 2019-

20 consisting of income under the head house property and other ¥

sources. On 21.01.2020, he realized that he had not claimed deduction
under section 80TTA in respect of his-interest income on the Savings
Bank Account. He wants to revise his return of income, since one year
has not elapsed from the end of the relevant Assessment Year. Discuss.
(i) Mr. Atal, a super senior citizen, has reported a Gross Total Income
5,60,000 and the deductions eligible under Chapter VI-A amounting
to 70,000 for the previous year 2018-19. Is he liable to file his return of
income u/s 139(1) for the Assessment year 2019-20? If so Why?

(iii) Mr. Kamal filed his Return of Income for the Assessment Year
2019-20 on 30-03-2020. Can he revise such return of income? If so

Why? (3*2=6)

3(c) Mr. A (Date of birth 01.10.1946) has purchased one house on
01.04.1995 for 4,00,000 and incurred 2,00,000 on its improvement on
01.10.1998. Its market value on 01.04.2001 was 3,00,000. This house
was acquired by the Government on 01.10.2013 and the compensation
fixed was 50,00,000 and the Government has pmd half of the
compensation on 01.10.2018 and balance half on 01.10.2019. The
assessee has filed an appeal for increasing the compensation and the
court has given decision on'31.03.2020 directing the Government to
pay additional compensation of 5,00,000 The Government has ‘paid
half of the 2mount on 01.04.2021 and balance half on 01.04.2022. He
has invested 72,000 in NSC in previous year 2018-19. Compute

assessee’s tax liability for the assessment L year 2019-20 and also capital
gains for various years. 6)

4(a) Fill in the blanks (cost 1§ﬂauon index is given on page no.: 6):

i. Mr. X acquires 200 shares 'Y@ company on 1.5.2014 at Rs. 50 each.
On 9.11.17, the company allotted bonus shares in ratio of 1:1. The fair
market value as on 31.1.18 was Rs. 220. Now on 3.7.18, X sells all his

Paged a‘f [

the Assessment Year 2019-20,

ii. ABC Ltd. has one plam and machmery on 01.04.2018 w1th w.d.v
6,00 ,000 and it was acquired by the company on 01.04.2007 and the

plant was sold on'01.01.2019 for 11,00,000 and selling expenses are
30,000, in this case, capital gairs shall be

iii. X converts his capital asset'.(acquired on June 10, 2008 for 60,000)
into stock-in-trade on March 10, 2014. The fair market value on the
date of the above conversion was 3,00,000. He subsequently sells the

stock-in-trade so converted for 4,00,000 on June 10, 2018. in this case, -
capital gains shall be 6) -

4(b) Mr. X is employed in ABC Ltd. getting basic pay 41,000 p.m.,
dearness allowance 7,000 p.m. (10% of the dearness allowance forms
part of salary for retirément benefits). The employer has paid
commission of 3,000 p.m. and has allowed him medical allowance 400
p-m. The employee was paid house rent allowance 6,000 p.m. The
employee has paid rent of 5,000 p.m. The employer has discontinued
payment of house rentallowance with effect from'01.09.2018 and has
provided him rént free accommodation with effect from 01.11.2018.

- The accommodation was owned by the employer and the population of

the place is 4,00,000. The employee was allowed arrears of salary
10,000 and advance salary 20,000. The employee was also provided
furniture with effect from 01.01.2019. Its original cost is 1,00,000 and
written down value is 35,000. Compute employee’s Tax Liability for

©)

& 4(c) Mr. XYZ is employed in ABC Ltd. getting basic pay 22,000 p.m.,
dearness allowance 5,000 p.m. He was retired on 21.12.2018. The

employer has allowed him pension of 9,000 p.m. and the employee has

. rcqueslegl for commutation of 52% of his pension. The employer has

allowed him such commutation on 01.02.2019 and has paid 5,61,600.
The employer has paid him gratuity of 6,95,000 and employee has
completed service of 20 years and 11 months. Compute Tax Liability

\.
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g END— SEMESTER EXAMINATION b T Nov. -2019
MGF-OS Internatlonal I“mancml Management

ﬂ”ze. 3‘\00 H 0urs

Max. Marks. 60

1 ) a) Drscuss the evolutron of 1nternat10nal monetary system'7

' b) How can Balance of Payments dlsequ111br1um be: corrected through the ﬂex1b1e

exchange rate - system‘7 Also explam what are’ the advantages of currency peggmg"
(6+6) v:';;. ﬂ' , _”.: 5t ‘Z'_,. :.1,” P . S

2) a) Explam the concept of Balance of payment'7 What could be the cause for a current
account deficrt or surplus‘7 How cana country manage contmuous curtent account deﬁcrt‘7

b} What w1ll be the BOP entrres of followmg transactlons'7

. 1) An Indlan m exports goods worth INR 500mn to a ﬂrrn in Australla Australran
ﬁrm pays from' its bank account. kept with SBI of Mumbai.

' 11) An Indian Flrrn 1mports equipmeént from a firm' in US by paymg INR 60 mn: US ﬁrm
deposrts that amount in Mumba1 branch of Amerrcan Express Bank

: 3) a) Explam the absolute and reIatrve versron of Purchasmg power parrty" In the real world' R

there may be dev1at10ns from parrty due to many reasons: Explain in brlef Also. dlscuss the
nnphcatrons of the same

- b) W’hat is Intematlonal F 1sher ReIat1on‘7 Followmg are the Interest rates and spot rates of
g exchange \ Aty =

"o Spotrate: USD/INR 39.45/50
® Interest rates in- Indra = 10-10. 25%
Interest rates inUS = 7 7.5%.

If Interest rate parity holds, what are the forward quotes? ,




~

' : . nd supply? ““Excha;.
4) a) How js the exchange rate determined by the forces of. Demand a pp g,
rate forecasts are used for several purposes” Discuss in brief.

' “ntal ati : ‘ ‘ nomic variables that
b) “Fundamental analysis involves studqug certain macro-economic \; . _ina; %
more likely to influence exchange rates” In the light of above statement eXpl Tie
any one model,. '

5) a) Distinguish between Foreign exchange exposure and Foreign Exchange ngk?’Why;_d‘
firms need to manage for'ei_gﬁ exchange risk? Sy o A ‘

b) A firm in Mumbai wants to buy an equipment costing USD' Smn, from a C'Ofnpal!y i

New York, Indian Firm is permitted to pay-the amount in 3 months, Current spot rate ¢

USD/H\TR_ is 45. The firm expects the spot rate of US$ to change in 3 months. Spot ra

may be USD/INR = 44,'44.5.46, 46.5 or 47. The t_hree. month forward rate is USD/IN]

46 Interest rate is 6% in India and 4% in US. In the Indian option market the CAL

option of US $ with an expiration date coinciding with thé 3 month period has an exercis

~ rate of INR 46, Option premium is INR 10,000. The PUT option has alse the same valy

-for the-same 3 month p_é:ﬁod. s '

.'Calculafé the ‘cash ﬂo_Ws uﬁder each alternative course_ of action? i
.:6). a) How is NPV of a project. different from its APV? Why does NPV differ from
o pr'ojectfs_perspebtive to the parent firm’s perspective? ' x

b) What is_risk :in_ International capital budgeting: decision? Hoy 1is risk haﬁdledﬁ
 International capital budgeting decision? ’ . i

XXXXX
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THIRD SEMESTER MBA — * 5 -

END SEMESTER EXAMINATION (Nov-2019)

. MGH-01 MANAGEMENT OF INDUSTRIAL RELATIONS AND LABOUR
LEGISLATION

Time: 3 Hours ' : Max. Marks : 60
Note : Answer any five questions, .. : - B

All questions carry equal inaiks,

Assume suitable missing data, if any.

Q1 Describe the following:

A. Termination of Services
B. Grievance Procedure

Q2 State the welfare provisions under Contract Labour (Regulation &
Abolition)Act, 1970.

e

Q3 a. An accident took place while an insured person was coming from

his placefof work with the express permission of his employer as a-
passenger in a vehicle provided by the employer. The injured person
was under no obligation to his employer to travel by that vehicle. State
whether this injured person is entitled to disablement benefits in
accordance to the provisions in the ESI Act, 19487

b.An employee was on authorized leave for a week without pay from
his employer. The employer deducts theemployees share of
contribution for that week out of his subsequent weeks wages. Is the
deduction legal ? (The ESI Act, 1948) | ’

Q4 Describe the main provisions of The Payment of Bonus Act, 1965.



Q5 a. Define and explain :

i) Partial disablement and Total disablement
i) Occupational disease '

b.A railway employee. was ordered to travel to a certain station ah«
repair there 3 pipeline. After finishing this work he was hurryin!
across the platform when he slipped and fell and died as a result g

‘the fall. Is the employer liable to pay compensation in this case.’
State reason. '
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- Total No. dfPages 02 ' Roll No. .................

' % SEMESTER — TIL. MBA
END SEMESTER EXAMINATION Nov-Dec 2019

Paper code: MGHO2 Compensation Manage ment
~Time: 3 Hours - I | v M.M.60
Note AH quest:ons carry equal marks Attempt any 5 questions

Ql._ Write short not_es on any 3 of the following
- 1. Different types of incentive plans
2. Fair wage, real wage and Minimum wage
3. Social securlty in India
4 Cafeteria style of compensation
. 5. Compensatzon Benchmarking

"Q2.a. Discuss the various ecdnomic and behaviou ral theories of
compensatlon Also examine their lmphcatlons for formulating the

reward strategles
b.Discuss.the highlights of seventh pay commission .

Q3.a.. Discuss the. various steps involved in Job evaluation. State the
methods of Job evaluation and explain in detail the process used for

establishing job hierarchy in Point Rating method
b. State the difference between Point ratmg and Factor

comparison method of Job evaluatlon

Q4a - DISCUSS the essentialities for job deSIgn and explain -Job
charactenst:cs model in detail. ' :

“P.T.0
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b. Job analysis has been considered the cornerstone of human

resource management. Precisely how does it support managers
making pay decisions.

QS. Restco Products make pillows and blankets specifically for
passengers on airlines. For

the past 15 vyears, profits in the airline industry have been hugely
variable, partially because of labour unrest, rising prices and so on.
Restco has been tinkering with the other kinds of “nap” opportunities
tailored to rest homes and senior citizens in general. This
experimentation makes current strategic objectives and ‘goals quite

ambiguous. What would be g good compensation mix for the
organization given this constellation of factors.

Q6. a. Discuss how Key Performance Indicators and Business metrics
can be barometers for assessing the performance of employees
b. Discuss the modern techniques of Performance Appraisal

~ -END-
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THIRD SEMESTER
END SDMDSTDR EXAMINATION

MGI-04 Data Warehousing and Online Analytical Processing
| | Max. Marks : 60

Nou/Dec-2019

Time: 3:00 Hours

{Note "‘Answer ALL questlons All questlons carry equal marks
Assume’suitable‘missing data, if any. i

Q.1] a] Attempt.any TWO of the following ‘ [3+3]

. What is a factless fact table Explain with example.
ii. Explain business dimensions. Why and how can busmess
dimensions be useful for defining requlrements for the data

4 warehouse?
iii. What is a star snowflake schema? Explaln its advantages and

disadvaritages.
iv.Why are reviews of existing documents important? What can

you expect to get out of such reviews?
[b] Create a detailed outline for the formal requirements definition

document for a data warehouse to analyse product profitability of a

large dcpax“cmental store 'chain. [6]

Q. Z[a] Attempt any TWO of the following
Elaborate the basic tasks involved in Data transformation.

ii. The tremendous diversity of the source systems is the primary
reason for their complexity. Do.you agree? If so, explain briefly
Wh}{. | ; .

iii.Define initial load, incremental load, and full refresh.

iv.Explain the different types of data extractions

Page 10f 3
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r* e 5] You Lo staging area expert in the data 'Wa'l‘éhoqse project team

for a large stationery item manufacturer. Discuss the four modes of

applying data to the data warehouse. Select the modes you want to
your

J\f use for your data warehouse and explain the reasons for
N . ‘ . -

selection. :
Q.3[a] Attempt any TWO of the following

i. Describe the characterises of strategic information.

ii. Explain any three business scenarios wherein data warehouse

[3+3]

can be applied.
iii.Data warehouse is a blend of technologies. Elaborate

iv.Differentiate between OLTP and OLAP systems.
[b] Prepare a table showing all the potential users and information
delivery methods for a data warehouse supporting a large national

[6]

grocery chain.

Q.4[a] Attempt any TWO of the following [3+3]
i. What do you- understand by data analytics. Explain using

suitable examples.
ii. Explain any 3 analytics techniques ‘used in predictive and

prescriptive analytics
iii.Elaborate with suitable examples the link between descriptive,

predictive and prescriptive analytics.
iv.Description analytics identifies trends in data and connects dots

to gain insights about associated businesses. Examine. :
[b] You are an expert in the area of Business analytics. Your

company manufactures electrical appliances and is in the process
of adopting a BI tool to gain data insights. Discuss the various
features you would consider while shortlisting the Business

Intelligence tool for your company. [6]

Page2of3



Q.5[a] Attempt any TWO of the following: - (3431
i. Explain the process of Knowledge discovery in Data Mining.
ii. Define OLAP and explain some of its characteristics..

iii. Explain database access methods. : '
iv. Defirie Data Mining. Give reasons why you think data mining is

being used in today’s businesses. .

[b]Your company is the largest producer of milk products, selling to
supermarkets, fast-food chains, and restaurants, and also exporting
to many countries. The analysts from many offices worldwide
expect to use the OLAP system when implemented. Discuss how
the projéct team must select the platform for implementing OLAP
for the company. Explain your assumptioﬁs. [6]
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_3rd__ SEMESTER MBA
END SEMESTER EXAMINATION Nov/Dec-2019
MGS-01 ' © SCM & E-COMMERCE
Time: 3:00 Hours Max. Marks: 60.
N@ge:ﬁﬁ_r_zswef’any_threeo_ut“ Question:N0:1.2.3°&
Questi > compulsory
Néi‘ksf’éfé_iﬁdic':étédfélédgfw,it

Q.1 a) Explain the challenges faced by e-commerce firms in India. (6
Marks) :

b) Explain the various types of e-grocery models prevalent. (6 Marks)
-Q.2 a) Explain the various customer segmentation strategies for online

grocery retailers. o (6 Marks)
- b) Using an example, describe network externalities and explain the
' phenomenon of Metcalfe’s Law.? ' (6 Marks)

Q.3 a) Explain the difference between business process automation, -
business process reengineering-and busine_ssprocessimprovement..— SR

(6 Marks)
b) Explain the advantages of Integrating Brick and Mortar Business
with e-Business Operations (6 Marks)
Q.4 a) What is an information system? What are the various types of
business information System. : (6 Marks)
. b) Describe in detail Management Information Systems. (6 Marks)
Q.5 Answer True or False with brief explanation " (2 Marks Each)

a) Fundamental difference between an order and delivery is that Order is
the flow of product while delivery is the flow of information.
b) A company selling its own products on its own website is an example
of Merchant Model. L :
c) Google AdWords involves auctioning of keywords based on which
advertiser websites are listed on Google search page.
d) Infomediary allows buyer and seller to transact on their platform.
e) Transaction processing system has analytical capability.
| P.T.O.



— 36

f) Sales & Marketing is an example of inter organization business
process. .
g) Executive Support System provides data input for Management
Information System.. '
h) Netflix entertainment platform is an example of Direct Model.
1) Internet Market Exchanges combines the purchasing power of map
buyers to negotiate aggressive discounts. )

) Enterprise Mfomation portal act as company’s interface to the
k) e-Commerce is a subset of e-Business.

I) Internet can reduce the informati ' S
on as
product, . Y mmety for a buyer of a ‘

{

pub]
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END s '
| EMESTER EXAMINATION . Nouv/Dec-2019

MGS-03 Logistics Plahning and Strategy
Time: 3:00 Hours

N Max. Marks : 60
ote: Answer an

y five questions. Assume suitable missing data.
S5 Hgse;he attached case study for solving questions.

fW oes the da.bbawalla organization achieve its high service

performance? What is its secret for success? [12]

Q.2 Why do world-class companies like FedEx study the dabbawalla system?
What do they expect to learn? [12]

Q.3 For dabbawalla what would be a bétter strategy, to offer sé;'vices as 3PL or

4PL, if they are to enter into partnership with an organization. Support your
answer. | [12]

Q.4 Elaborate “on-time delivery, every time”. Is this a critical aspects of logistics

management for an organization? o [12]-

| Q.5 A consultant wants to revamp dabbawalla system and proposes several
changes. How should Raghunath Medge respond? If he allows him to make
changes to the system. Please list specific examples of what you as a
consultant would change. V [12]

Q.6 Few managers can afford to hire star employees and even if they could, the .
Performance of those individuals is hardly a sure thing because, as research
has shown, stars typically need a strong team in order to flourish. But
dabbawalla system turns this upside down, where ordinary members are
delivering world class performance. Elaborate. . ' [12]

Q.7 Identify and describe various constituents of logistics management as
applicable to dabbawalla system. [12]
: -END-
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The Dabbawala System: On-Time Delivery,
Every Time

Our ancestors fought in Shivaji’s arnty. Today we fight against time. )
— Raghunath Medge, President, Dabbawala Organization -

India, 5,000 individuals called dabbawalas delivered
home-cooked food) to offices throughout the
Mumbai had changed enormously, becoming, by
10.5 million people. Yet the dabbawalas’

bbmoalas) picked up the filled
they

Each day throughout the city of Mumbai,
some 130,000 dabbas (lunch boxes filled with
metropolis.! In the nearly 120.years of this service,
2009, India’s financial and corrunercial capital, housing some

approach had remained consistent: a semiliterate workforce (the da
dabbas from the houscholds that prepared them and delivered the boxes to the requisite offices;

then retrieved the empty dabbas from these delivery points and returned them to the originating
households, in order to begin the process again the next day. By 2008, roughly 260,000 transactions
were completed within 6 hours each day, 6 days a week, 51 weeks a year, and operating at a quality
level comparable to Six Sigma processes.? (See Exhibit 1 for a quality award and certification.)
Moreover, this operational excellence was accomplished in the absence of technology, such as
computers or even cell phones. Some customers had been using the service for more than 20 years;

some dabbawalas had been delivering dabbas for more than twice that time.

In recent years, the dabbawala system had begun to generate worldwide news, attracting the
attention of royalty like Britain’s Prince Charles, famous industrialists like Sir Richard Branson of the
Virgin Group, and of executives from sophisticated- delivery companies like FedEx. It motivated a
plethora of books, TV documentaries, and articles. People interested in how the system worked
trooped to Mumbai to chronicle the dabbawalas in action—celebrating more than “supply chain
efficiency,” however; the dabbawalas’ organization was scrutinized, too. It provided lifetime financial
welfare and support for all members, who determined their own policies about hiring, logistics,
customer acquisition/retention, pricing, and conflict resolution. About 200 groups worked

1 A Jiteral translation of the word dabbawala is “one who carries a box.” A dabba is a lunch box, while wala is a suffix denoting a

doer of the preceding word. .
25ix Sigma is & business management method that seeks to improve process quality through minimizing variability and the
identification and removal of error causes. Among its methods is the systematic use of statistics. Using a set of process

assumptions, a six-sigma quality level is usually :'{e'ﬁi}'Qd as 3.4, defective parts (errors) per million opportunities.

Professor Stefan Thomke and India Research Center Researcher Mona Sinha prepared this casc. Thanks to Rachna Chawla, Rescarch Coordinator
at HBS India Research Center, for her assistance. HBS cases are developed solely as the basis for class discussion. Cases are not intended to serve
as endorsements, sources of primary data, or illustralions of effective or ineffective management. Some names have been disgulsed.

Copyright © 2010, 2011, 2013 President and Fellows of Harvard College. To order coples or request permission to reproduce malerlals, call 1-800-
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synchronously throughout the city, each with a designated area with its own customers, nnd group Endnotes
members shared equally in the profits their work generated. Groups also elec!ed fepresentatives toa )
managing committee that, meeting monthly, tackled operational and social issues affecting all ’ g )
dabbwalas as well as attempted to resolve difficult issues that could not be resolved at local group L hnp://wwwmrvc.lndlannn.gav,m/ovemew.hm
levels. X . 2 b Mumbai Local Transport—Suburban Railway and Road Transport, http://www.mmrdamumbal.org/

On January 15, 2010, the monthly g it il meeting ded by the heads of the projects_mutp.htm.
two governing i of the dabbawalas, Raghunath Medge and Sopan Mare, along with adviser < http:/, /www.mmrdamumbai.org/ projects_metro_raiLhtm.
ical organizational and operational issues. Then after a

Anil Joshi, began by discussing an array of typi 1

break, the team took up Joshi’s presentation of “future ideas.” He wanted to upgrade the dabbawalas’

website, which he had set up in 2005 using his own funds, to include a payment gateway for online

order booking and to start a cell phone texting service for order inquiries, among other possibilities
ing the

for cor hallenges the los and their system were facing.
The English-language website had sfully g d media, corp and academic interest,
leading to speaki ig and ing small i But the site had not substantially
service’s customer base because the inquiries received were passed on

increased the delivery
informally by word of mouth and there was no system in place to monitor whether an inquiry
reached the appropriate dabbawoalas and whether conversion to sales materialized. Joshi felt that the
“technology aversion” among most las compounded their challenges. He Dbelieved that a more
cutting-edge approach to technology could help overcome the current limitations, but the
organization remained skeptical.

e and Mare for the remainder of

As he checked his cell phone one last time before rejoining Medg:
the meeting, Joshi recalled some of the arguments he had heard before—and would need to counter.
“What can technology do when

These could be summed up by a comment Medge had recently made:
? We are not educated, so we don’t know how to use

we don’t have even regular electricity supply’
technology. Our philosophy is that serving food is like serving God. We should just focus on
delivering dabbas.”

Background

a banker in Mumbai hired a man to pick up a packed lunch from his home,
have it delivered to his office, and when the meal was finished return the empty lunch box to his
residence o it could be readied for delivery the following day. Mahadev Haji Bache, one of the
original deliverymen, saw an opportunity. In 1890 he created a delivery business of some 35 farmers
from his village near the city Pune,? calling it dabbawalas and offering the men a regular annual
income for delivering dabbas to customers in Mumbai, taking advantage of that city’s pioneering
railway system. The villagers were primarily descendants of tribal warriors who fought in
Chhatrapati Shivaji‘s* army in the seventeenth century. They belonged to the Varkari® sect and drew
their inspiration from the tactical inspiration and benevolence of this Maratha king. As Raghunath
Medge reflected, “Our strength comes from Shivaji and our devotion comes from God.”

Around the year 1885;

3 Pune is the eighth-largest city in India, located about 75 miles from Mumbai.
4 Chhatrapati Shivaji Maharaj was the founder of the Maratha Empire in western India. '

S Varkaris were a Hindu spiritual sect in the states of Maharashtra and Karnataka. The word varkari literally means “traveler.”
The sect was so named because traditionally they traveled hundreds of miles on foot for a holy pilgrimage once a year.
Marathas were a blend of the warrior and agrarian classes, spoke Marathi, and generally had their rools in Maharashtra. .

px]
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Exhibit7  Letter from Prince Charles to Mr. Medge Customers

Traditionally, the dabbmwalas relied on word-of. th for iring new Their white
H fal 0 . b a
Mahatma Gandhi caps, distinctive bicycles, and handcarts all served to advertise their service. Their

5 N century-plus-old delivery system continued to bring in n¢ to i idl; ing ci
Medgs et g In new customers in a rapidly changing city, as

In Mumbai people of various castes and communities lived together in one society. People

. . canrot eat out for long periods because it is expensive and also bad for health. They want their

. own regional cuisine. Many people want vegetarian food that is cooked in a meat-free

i environment. Some people want food without onions or garlic. On certain days some people
. 8™ August, 2005 . eat special foods due to religious beliefs. They don't like the food from their office canteens
because it is standardized, boring, and not of very good quality.
. LW $ Wﬂ Sheikh Bashir, a dabbawala customer for the past three years, pointed out the constraints that

commuters in Mumbai faced, which underscored the relevance of the dabbawalas’ service:

BIRKNALL

My wife and I were deeply concerned to leam of the

appalling floods in Mumbai as a result of the catastrophic d . ’ We cannot carry our own dabbas to work because the trains are too crowded and our water
Monsoon weather. We are particularly distressed by the 2 B supply is available too late. So our meal is not ready by the time we leave for work. The
suffering being endured by so many people in ang dround : dabbawalas are affordable, always punctual, and we trust them completely. Sometimes we even
Mumbai and wanted the Dabbawallahs to know how much we . put phone chargers, bills, et cetera, in the lunch box if these have been forgotten in the morning
feel for you all and that our hearts go out to all those whose knowing that it will surely reach the person.
lives and property have been so cruelly affected by this ) e
continuing tragedy. Organization
We send you all our fondest thoughts and heartfelt d Originally, one dabbmwala was in charge of a particular area, hiring 15 to 20 delivery boys who
- wishes. were paid a monthly salary. But in 1983 the dabbawalas moved to an owner-partner system based ona
N . profit-sharing model. Loosely coupled groups of about 25 members each, including 2 to 3 people who
worked as backups, managed their own finances, and jonal activiti t

ranged in age from 18 to 65 years old (there was no formal retirement age). Of the 5,000 dabbawalas in
Mumbai, only 4 were women; women typically performed administrative functions or carried
“special service” dabbas—so called because they involved irregular pickup/delivery times or
locations and commanded a higher price.

m Senior members with about 10 to 15 years of experience were regarded as supervisors (called
% muqaddams). Each group could have one or more supervisors depending on the age composition of

the members of that group; by 2009, there were about 635 mugaddams, who carried dabbas as well as
helped troubleshoot, résolve disputes, and oversee coding, sorting, loading/unloading, collections,

and payments. In addition, these supervisors would stand for elections to become part of one of the

two committees that oversaw the functioning of the dabbawala system. Each comumittee took decisions

pertaining to its respective areas of interest, consulting with each other and other senior members
either at their monthly meetings or informally. (See Exhibit 2 for the structure of the dabbawala
organization.) The two comumittees were:

o The Operational Committee (Mumbai Dabbe Vahantuk Mandal): Set up in 1890, it was
currently headed by Sopan Mare, a veteran dabbawals, who was assisted by a general o

secretary, a treasurer, and six directors.

Source: Company documents.

+  The Charitable Trust (Nutan Mumbai Titfin Box Supplier's Association): Established in 1954, \
it managed three lodging houses at the dabbawalas’ place of annual pilgrimage. The trust was
headed by a president, Raghunath Medge, who was assisted by a general secretary, a

22 , 3
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treasurer, and a director. Medge was a third-generation dabbawala who started in 1972 and
had been part of the management committee since 1992.

—_—
JL Anil Joshi had some college education and had completed a computer course before joining the
dabbwwalas in 2003 as an adviser for information technology and marketing. Being the only fluent.
I English speaker, Joshi was their public face, taking on speaking assignments and conductmg guided
tours for business executives, students, and media from all over the world. He did fiot come from any
of the small villages the dabbatoalas originated from and was not a working member of a group, nor
did he belong to any one of them.
Observing the financial hardship of the dabbatoalas, Joshi had in 2005 set up the separate Dabbawala
Foundation, of which he was the president. The foundation supported individual dabbawalas by
replacing stolen or damaged bicycles and handcarts (costing $100 and $200, respectively), providing
medical support, and supplying needed items {e.g., household appliances) for the families of
dabbawalas. From 2005 to 2009, the revenues generated from speaking assignments and donations

wem used by the Dabbawalz Foux\dauon to support its activities. To simplify the organization,
, the dabbawalas decided to d inue the foundation in 2009, and Joshi once again took on

the role of an adviser. Donations and fees collected now were directed toward the upkeep and
rebuilding of the lodging houses by the Nutan Mumbsai Tiffin Box Suppliers Charitable Trust.

Recruiting and Motivating

New members were recruited from only about 30 villages in and around Pune, New entrants were
friends or relatives rec ded by existing bers and shared the same tculture, language, food,
2nd religious beliefs. They were hired on probation for six months, after which they could buy into
e business. For those six months trainees were paid a fixed monthly salary of Rs.3,000'($60), after
which they had to invest 10 times the expected monthly income in a group’s business to become a
member and partner of that group. For example, if a group paid Rs.7,000 ($140) to each member each

monty, a tew dabbaoals would have to pay Rs.70,000 ($1,400) to become a partner,
A3 Madge explained, “Only those who have no education or job come here to become a dabbaroala
and do manual labor ” Josti ackmowledged that lack of education resulted in a lack of vision, but he

was more coremed 2bout overqualified staff:

Our people are suitably educated for our job. In fact it is beller not to have educated people
m.o\-or.htu:mw:vqm!}ythenmzm“, i d our d
Cabsoels will funeh tizc usL 1f people are slightly underqualified for a job they will be eager to
Jeam Lecause they would not have many other job options. Overquahﬂed employees will not be

motvaed, wil not uark iste, and will want 2 higher salary, C i matters; qualification

Socsrt

Trauees leamed on €e job by being pant of a group and assisting with all the activities. A ing
0 Josts, T A rereraion wol s te emotional unity which results in excellent teamwork. Beca ofhlgh
,wu:x.:t... ezt 2l daidapales semain in their own groups for their entire working life, and are
#iie @ bl ogerm selatinstaps with customers. This helps them identify problems in the
Fystem end fnd sounons mose easily "

onperiomurs were wemed and given one or two chances after which, asMedge emphasized,
“We Guow Cum L3t 6 L scem, o we &sk ham 1o give his business to some other member of his
-y * $ie Soiuad B mctiud of enforciyg discpline: “We have our own mini-govemment for
O prupeiness o8 Jesdiving disputes. Justice is swilt, fines are impaosed, and the involved
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Exhibit 6c

What Does the Symbol Mean?

Symbol
2 indicates that the destination is Ci d Market.

2 (center in green color)

2 (edge of lid) Code of dabb Mr. Kashinath Gangadhar Bhor at CST
station, who will make the delivery. Each dabbawala has a
unique code at his station of delivery; the number 2 will also be
used by other dubbatwnlus at other stations.

U (edge of lid) Code of destination: Udgar Building.

2 (edge of lid) Second floor.

11 (edge of lidj Shop number n (the building floor consists of several shops).

Other red symbols after 11 “Thane” written in Marathi language.
Red lines (edge of lid) Originating station is Thane on Central railway line.
i

Source:  Company interviews.
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Exhibit6b Code for Delivery from Kurla to Sant Building in Ballard Estate (near CST station)

Symbol

1 (center in green color)

1 (edge of lid)

SN (edge of lid)

1 (edge of lid)

Blue lines (edge of lid)

What Does the Symbol Mean?

1 indicates that the destination is Ballard Estate. The green color
indicates that the origin s a station between Thane and Kurla

(Central railway line).

bawala Mr. Dadabhau at CST station who will make the
dabbawala has a unique code at his station'of delivery;

Code of dubl
used by other dabbmwalas at other stations.

delivery. Each
the number 1 will also be

Code of destination: Sant Building.
First floor.

Originating station is Kurla on Central railway line.

Source: Company interviews.
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members resume work within a day. N i i i drinkin
Sum y. Not wearing the white Gandhi ink i
work. hours invites a fine of Rs.100 [$2] and Rs.l,ogﬂ [$20), respecﬁvelﬁp * e

Finances
Individual dabbawal we;'e ible for dati i i i
LI 1 ¢ nalas P g g prices with their customers, doing so
:lv;tt}au;\céh;e ptxgglgrgxgdme:;t lgmamdge:\]smt, which factored in the average weight of 2 dabhfthe
ence and office, and distance between the office and the i
Members were paid only for the collection of dabbas. ; ol

Altogether, Mumbai dabbawala revenue in 2009 was about Rs470 million (§9.4 million
average, Rs.300 ($6) was collected per month from each customer, and, assumin gz(Sszeﬂnn mps), :En
worked out to Rs.6 (12 cents) per trip. If a dabba were to be delivered by regular courier, customers
would have to pay about Rs.85 (§1.70), which made the dabbaroalas’ pricing very competitive.
Typically, 10% of dabbas were delivered near their originating homes, without having to use the
railway. Publicity over the last few years had helped the dabbawalas increase their monthly prices by
Rs.50 to Rs.100 (51 to 52). However, Medge did not anticipate significant increases in members’
monthly take-home pay because the umber of dabbas each member could transport was limited.
ependently calculated its profit (which would be equally
the number of customers the group serviced, the price
In general mest dabbawalzs took home about
typically ran to: Rs.200 (54) for a raillway

At the end of the month each group ind:
shared among the group’s members), based on
per customer, and the number of members in the group.
Rs.7,000 (5140) per month, after deducting expenses, which
pass, Rs.200 ($4) for a permit to use a ‘train’s Inggage van, Rs.100 (52) for bicycle or handcart
maintenance, Rs.150 (83) for miscellaneous costs, and Rs.15 (30.30) as contributien to the Charitable
Trust (Nutari Tiffin Box Supplier’s Association). Since the dabéaselzs used existing infrastructure
(railways) and low-mai =nmfue1—basedmsportzﬁm(bicyd5a:ﬂhzdarb),f1’!e’r

_operating costS: were low. Once a year, customers typically paid them cre month’s charges as a
bonus, but everrif some customers refused to do so, the dabbaalzs continued to serve them.

With little or no education the typical dabbawalas had few other job options. Only Medge had a
college degree; 15% of the 5,000-member workforce had attended junicr high school, while the rest

were uneducated.

Operations
vs dabbawalas attracted werldwide attention to how the

After a BBC documentary on Mumbai -

system worked, Britain's Prince Charles met with the dabbealas when he traveled to India, to

understand how. they achieved their outstanding service quality. (See Exhibit 3 for photos.) Medge

regalled the visit and the dabbawalas’ amazement at being invited to the pmce's wedding in

April 2005. He believed that the royal attention was a turming point for his organizaton bemuse it

debbapalzs and highlighted their operational expertise. The

- system became the subject of numerous news reports and dmms by kadmg Indian and |

 international felevision and radio outlets. Dabbaoala representatives began to addx;ss mdusu'y and S
N ,a:cademic forams within and outside India, and shared their insights on managing logistics and

the city’s extensive railway network
linked islands, covering about
dered one of the

successful in Mumbai because
tem. Mumbai comprised seven

** The iabbivalas continued to be
had been connected by 2 railway system corsi

enabled a centipede-like delivery sys
438 square kilometers, that since 1853

5
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mast foaded, and ir
prssengers dady under e
fours against a recommended capacity of 1,700.% The Mumbai suburban rail tem had t
zones: Western and Central (including a branch called Harbor). Given Mumb. ':]’:{g:;},f ’en: ituctinal
sl.upe, the _daééemahs could use bicycles and handcarts to travel the short distances between the
railway stations and homesy/offices, and the train for large d:slanqm“m the north-south direction.
(See Exhibit 4 for Mumbai’s railway network,) The bicycles, -specially designed with wide ¢
v’und!e{,‘nrs, a front basket, and a parcel tray behind the seat for hanging or tying the dabbas from or to ;
1e vehicle, could carry a maximum of 30 to 35 boxes. ;

utrlized in the world.* In 2008, it carried 6.4 million

Exhibit 6a

A_ dfzb[m typically changed hands four times on a round-trip journey: twice at the railway station
origin and twice at the railway station of destination. The process began with each dabbawala
orting to his designated station in the moming, then cycling to about 30 residences on his fixed
e to pick up dabbas from each location, and delivering the boxes to the railway station of origin.

> they were sorted based on delivery destination. Thereafter, they were taken by trains to the

vay station of destination, where they were sorted again and dropped off to individual offices by

htime. Soon thereafter the entire process ran in reverse for returning the empty dabbas to their

nating sites. Within six hours each dabbz had completed its return journey.

ypical Dabbawala Day

Vr. Dadabhau had been delivering dabbas for 35 years. His daily schedule was typical of all Symbol
aroalas in Mumbai. (See Exhibit 5 for Mr. Dadabhau’s schedule.)

On 2 regular workday, Dadabhau, who lived in Mulund, a Mumbai suburb on the Central railway L{center.In green color)
2, took the train to arrive at Kurla station, where he unlocked his bicycle and cycled 4 kilometers )

5 miles) to the house farthest on his route o pick up his first dabba. He had a fixed route and time

hedule for collecting Tus roughly 30 dabbas, moving closer 10 the station with each collection of .

XS 1 (edge of lid)

Al s customers remdad W spartments, as did the majority of people in Mumbai, regardless of
ne Laldings had elevators and security guards at the gate; others featured only

O bV

Slaiicases. 1 i parked us unlocked Wacycle either at the building gate or on the road and did LB (edge of lid)
Bt woiry about Ui salely Of dabbes hung on s bicycle, Each customer knew the exact time he

woild eifive ke phades, tie dabbes were pached and placed near the door of the home or

Lotake b amived. At other dences he rang the doorbell hoping the woman NOG6 (edge of lid)
© f Lot [ eaied [ mend ) who prepared and packed the lunch would hand over the lunch box
WALIL L slotiad o Taie of Detween 30 10 60 seconds per house, LALIT (edge of lid)
2 ¥ ssene, Decstiac deposited 1s dabbas alongside the 2,000 or so other lunch boxes
Ty Bemtacrs af Tae DGR Twe gEOuDs Operating in Kurla East and West, placing them on the . . .
et Ty Sty Gseld o saTtng. Tie Jocked hus bacycle and left it leaning against a wall near - Blue lines (edge of lid)

Smpan fe sasma 155 colicagucs 1 anlockang a set of wooden crates (which would house
Joemey L apecth Locanons) and laying them down on the sidewalk Dadablup.
Frpves aoand to examiie the codes on the lids of dabbas (discussed in

G il acee Gast b would take with him for delivery to Chhatrapati
i & by ComeEel exes o thie Central sailway Foute in south Mumbai.

Source:  Company lntesviews.

i i A wEi WS S Ehaips i Sdlivering Aatduas lacally within fhe Kusla station
& Sca BuEEIwIETS, S b bocs! Acdivery daddas on a bicycle and left. As

about 4.700 ¢ per train during poak Code for Delivery from Kurla to Laxmi Building in Ballard Estate (near CST station)

What Does the Symbol Mean?

1 indicates that the destination is Ballard Estate. The green color
indicates that the origin is a station between Thane and Kurla 5
(Central railway line).

Code of dabbmoala Mr. Dadabhau at CST station, who will make the
delivery. Each dabbawala has a unique code at his station of delivery;
the number 1 will also be used by other dubbawalas at other stations.

Code of destination: Laxmi Building.
Sixth floor.

Name of customer (only if customer requests name because of
multiple deliveries on the same floor).

Originating station is Kurla on Central railway line.

SR e
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Exhibit5 Meet Mr. Dadabhau

this was happening, Dadabhau and his colleagues were filling the crates with dabbas headed for their

destinations. He and five other members were in charge of three crates with about 40 dabbas each.

Crates were carried as a “head 10ad” by one or more dabbawalas depending on the crate’s weight—
, usually about 60 kilograms (130 pounds)—or several dabbas were carried by hand or over the
" B shoulder. (See Exhibit 3 for photos.) Railway stations had no elevators, escalators, or ramps—only
stairs to access the platforms.

Age: 65 years
Dabbawala since 1977

Area of operation: Kurla (East)

The dabbawalas knew where the train's luggage compartment was and thereby positicned
themselves on the platform so they could rush through the door with their crates within the 40
seconds during which the train halted at major stations, or 20 seconds at interim stops. Not only did
Typical number of dabbas delivered in y iy each station have outg ing and incoming business, but increasingly crowded conditions had Jed to
Ballard Estate and surrounding areas: 25 : A . commuters” storming the luggage compartments even though they were not permitted to do so. For

Typical number of dabbas collected from
Kurla (East): 28 " .

Mr. Dadabhau’s Normal Day *

Residence: Mulund, a suburb on the Central
railway line in north Mumbai, approximately
15 kilometers (9 miles) away from Kurla

the dabbawalas, this meant that loading and unloading at stations usually occurred amid huge jostling
for scarce space.

AtCST, Dadabhau joined the xe'st of the groups converging at the station and picked up the dabbas
he was to deliver fo areas in and around Ballard Estate, part of his delivery route. He identified his
dnbbasby!hecodesornLhe:emerof&mﬁdsandloaded!hemarﬂohisbicydzton‘delkﬂm‘m(oﬁz

— 3 s miles) away—about a 10-minute journey. (Dabbawalas who serviced areas with a greater number of
B30 e Report ekt (tuiatink o) Soliuios oped handearts) Dadabhau stated deliveries beginning fom the gereal post offce closest
9:00-10:00 a.mL Pick up dabbas from homes. to CST. In some places he had to leave the dabba with the security guard, while at others he deposited
it at the appropriate floor just outside the elevator gate or at the building’s reception desk.
10:00-10:30 a.m. Both groups congregate at Kurla with dabbas and y : 5 )
sort based on destination station. After delivering the lunch boxes, Dadabhau and his colleagues returned to CST, ate their lunches
.. (packed in their own specially marked dabbas), and then began collecting the empty hunch boxes,
10:30-10:45 am. Board trains with dabbas either in wooden crates starting with the offices farthest from the station. Once the empty dabbas were back at CST, they were
or inhand. again sorted according to the codes indicating the station of origin. This part of the joumey was more
relaxed because the dabbus were not as heavy, the trains were not as crowded, and the retum delivery
10:45-11:30 am. Travel by trains to Chhatrapati Shivaji Terminus fime was more flexible.
(CST; erstwhile Victoria Terminus).
5 Dadabhau and his colleagues, now gathered back at Kurla station, met with the other groups and
11:30-1200 pm. All GST groups congregate at station and sort picked up their dabbas from memory; Dadabhau knew the look and destiraticn of all of /% lunch
dabbas based on final office destination.  boxes by heart. He then delivered the dabbas back to customers” hemes cn Is ticyce, this ime
. i d d Ballard Estate. starting from the residence closest to the station. This was the time he interacted with kis costomers,
1200-100 pan. Delivery to offices atand aroun - providing/receiving information about changes or issues in pickup/delivery, and cellecsng the
E - monthly fee. Medge explained the importance of building and maintaining customez Sonship
0430 pan: Lonehitime for the debbaveles. . “If we gllon't provige reliable and punctual service, or if lheg railways go cn strike, then customers will
1:30-2:30 p.m. Collect empty dabbas and retum to the get accustomed to carrying their own dabbas and our 120-year-old business will close down.”
destination station; sort based on station of Customer satisfaction, it was believed, came from on-time delivery, every time, of lunch bexes and
origin their return at the end of the day.
2:40-3:30 pm. Train ride back to station of origin (Kurla). Coding System
3:30-4:00 p.ou Sort the dabbas at the station of origin (Kurla). The “waziors of the road,” s the dabbawalas liked to call themselves, had no written .
' ' home add They attrib ’ﬂ\ekspeedudaccurxymﬁxeeﬁnﬂsd!dedge's
4:00-5:00 p.m. Retumn the dabbas to homes. dfather, who had institutionalized “time tactics,” a code of ethics, a serse of

Source: Company interviews.
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discipline, and, crucially, a simple yet comprehensive system of identification codes based on celers,

well-known symbols, and characters that were universally identifiable. The use of these basic visual
cues, it was estimated, fundamentally contributed to the dzbbamalas’ 2008 erret rate, which was an
impressive 1 error in 6 million deliveries. It also allowed fora ‘hub-and-spoke distribution system, In
which railway stations served as central sorting and distribution points (hubs) and each station had

1
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sILT

Z very routes Staular models had been pioneered by airlines In the 1950s and ~ * Exhibit4  Mumbai’s Extensive Local Railway Network (funs mostly north-south)
adopted by FedEx for overrught delivery in the 1970s. The dubbawals system had pelied on such a .
2istrbution model since its inception nearly a century earlier.
Thus, Dadabhau, Like his colleagues, relied on the codes marked on debbas to identify which ones
he would carry to CST and then to Ballard Estate, as well as for returning back to Kurla and also
participating in the sorting processes that were part of his work. (See Exhibits 6a through éc for the
coding system for Dadabhau’s daily schedule,) These codes didn’t contain all the information to

make a delivery; any information gaps were filled by years of experience and the dabbawalas’ excellent
memory. d

The code on the lid of each dabba had three main symbols. First, the large and bold number in the
center indicated the neighborhood where lunch boxes had to be delivered. Each destination station
served several neighborhoods. (For example, Ballard Estate’s code was 1, while Crawford Market’s
code was 2, and both were served from CST railway station.) The dabbawalas knew the neighborhoods

(and the codes) that fell under the purview of each destination station.

Second, on the lid edge was a group of codes: a numerical code for the dabbawala who would make
the delivery, followed by a two- or three-letter alphabetical code for the building name and a number
indicating the floor where the dabba was to be delivered. (At times, customers requested their names
painted on the lunch box if there were many lunch boxes delivered to the same floor.)

Third, another symbol on the lid edge—a combination of colors,
station of origin. Each group created its own symbol of color code:
group had chosen a blue line on the-edge of the lid, while the Thane group had chosen a red line plus

the word Thane written in the local language of the region, Marathi. At the end of the day, all lunch
boxes ended up at their original railway station, where the dabbawalas would pick out their lunch
boxes and retumn them to customers.

motifs, or shapes—indicated the
s. For example, the Kurla (East)

Increasing Complexity

For all the dabbmocks 2bility to provide steady, speedy, and accurate delivery, those who
dd i overzll debbawosls system were aware of how changing contextual factors
influenced, and would continue to affect, their work. At the local level, someone providing a dabba
might not have her lunch box ready —for any number of reasons; there could be, as well, citywide
Cisryptions. Thus, given the split-second precision of the system, a single delayed Junch box could -
Fesult i & cascading effect tiat would impact thousands of dabba deliveries.

The Latdimoeles had bailt in bufiers by having two or three extra workers per group. All members
wele ressuained in all {eg. <ol \g, sorting, portation, finance,
Felations) Yet the pressure did build. For one thing, the number of vehicles in Mumbai had
Faustronmad, growing trom €1,000 in 1968 1o more than 1.02 million b

y 2008.€ The city’s warsenin, -
L2, @ arn, hed en impact on handcan use, increasing the -use of bicycles, “Handcarts have
Boltie S5hodh Wy maresver” Jostd noted. >

T Sdsmse @ e number of vehicles throughout the city, roads were endlessly
pocs were ouuy ¢ (nd endlessly being filled), which pased particular

i fester. And with a bicycle loaded to full capacity of

Note: VT is the old name of Chhatrapati Shivaji Terminus (CST).
B I L, Mg, aiTis Gae Ywndlclars or attached 1o the back carrier, maneuverabilif
sy S e e v uirmasdd e 2 4 Source: Courtesy of the University of Texas Librarics, The University of Texas at Austin, hit /7 lib,
W s o Moy Semveryracs, sciaduy Dadebhau, never stopped at sed lights, went the mepe/map_sites/ citienaston htont i http:/ /www.lib.utexas.edu/
— ——
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The Dabbatoala System: On-Time Delvery, Every Time
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610-059
“The Dabbatoala System: On-Time Delivery, Every Thne

Exhibit3 Dabbawalas in Action
wrong way into one-way streets, and often rode their bi
. ) } g ’ )y ard cycles on the sidewalk (if
: st\;:ikwsal.]s !at :“){A\:;\hb?n railway stations, to save time dabbmvalas sometimes c:osstd \&\:‘:a::\"::/
instead of climbing up to the overhead bridge to et to the platf i
dangerous and at times generated fines. i tiems Sach s e

 Sir Richard Branson's Visit . -
Meanwhile, givén increased securi concerrs, particular] t he ity
late November 2008, dabbawalas had% “verify” g:xw mstgn:gﬂmﬂ;e‘e;:ﬁ;fm};ﬁ;: 2;1:1?191:1‘-
“We don't accept dabbas from people not having a permanent address in Mumbai, They may be
. terrorists and may have bombs in the lunch boxes. For the first few deliveries we open and check the
X dabbas, which we never had to do before.” Apart from their own security checks, increased security at
their delivery destinations often complicated a down-to-the-second delivery schedule, As Kishankari

Vaidya, a dabbawala since 1948, noted:

Earlier we would hand over the dabba directly to the consumer or at least drop it off outside
the elevator door on each floor. Now we can't enter many buildings, so we have to leave the
dabba with the security guards. So dabbas can get lost and customers have to come down to the
security area to pick up and drop off their dabba. Sometimes the guards open our dabbas to

check, and this increases our time for pickup/delivery. We try to tell the security people that

we are trustworthy, but it doesn't [always] work.

A proof of such trustworthiness and, indeed, inspiration was found in the actions the dabbawalas
took in July 2005, Unusually. heavy monsoon rains combined with record high tides wreaked havoc
in Mumbai. As the water level rose, vehicles and people were stranded in many places in almost
waist-high water. Like their Mumbai customers, many of the 5,000 dabbawalas remained stranded in
trains, at railway stations, and on sidewalks for two days. Medge himself was on a train with 10 other

dabbawalas, returning with empty dabbas. They saw commuters jump down onto the railway tracks
from the train to wade through th “We can't leave without the dabbas

e water. He recalled thinking,
and we can't avoid the ditches and potholes while wading through the water with heavy crates on
our heads.” On the second day even before the city limped back to life, the dabbawalas waded throu, gh
two feet of water and delivered the dabbas back home, reflecting their deep

commitment and work
ethic, Amid the despair of loss of Life and property, the dabbawalas symbolized the resilience and spirit
of Mumbai. Concern for their welfare came from fri

ends and supporters all over the world. (See
Exhibit 7 for a leter to Medge from Prince Charles.)

Prince Charles’ Visit to Mumbai

Experimenting with the System

the flat organizational structure the dabbawalas had evolved into enabled

) ’ Anil Joshi believed that
quick decision making should variances—like the monscon extremes of 2005—occur; but he
acknowledged the role of commitmentin actually minimizing variability:
t the dabba as a container,

pends on the level of commitment. 1f you treat the ¢
usly. But if you ink this container has medicines that must reach
itment. We treat our

a ) ’ A dabba getting lost def
of urgency forces comm!

then you may not take it serio
patients who are ill and may die, then the sense

dabbas with that same sense of urgercy. %
T ‘1\0 OQ

Soulm: Company documents. l wis et b
. ades, and these had in fact led to changes in how the dabbawalas wor! ut for all these a emp

g:c;n:l institutionalizing of, change, {here still was a deep conviction that the basic ay;?roagh was

both coherent and unique and even that it had not changed over the decades. Joshi put it this way:

“Some people tell us to ‘cook food, or have our OWR transport systemu

That notion was a core operating principle, yet it Jent itself to various experiments ove

But we never deviate from our
9

mnmnmmsmmymo.
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S

ore mussion. %Mm&mda]t’vyﬁgdz&x&a fo our We dont apy

/ Lbother them =
More broadly, the dwbbuonls ization tended to deflect some often-proffered suggestions,

&

I ble” idea with the reality of the dabbawaln life:

Ragh h Medge juxtaposed one

Some busil school stud ined our system and suggested we use motorcycles
Instead of bicycles. But then our - people would have to lean how to use them, get driver’s licenses,
deal with the Regional Transport Office [like a department of motor vehicles in the U.S.], and costs
would increase for the customer. With handcarts and bicycles we have {155 tension, less

investment, and no pollution.

Another idea often raised was expanding beyond Mumbai. But no other city in India had such a
comprehensive railway network, and the dabbaoalzs’ delivery expertise was anchored to trains. Delhi,
for instance, had a rail system that was circular and spaced out, unlike the densely populated,
longitudinal landscape of Mumbai. There was also a worry that recruiting outside their traditional
network might threaten the level of cooperation and teamwork the dabbawal prided th Ives on.
They did, however, willingly allow entreprencurs from other cities, such as Bangalore, to try to

replicate the system elsewhere. Many of these entrepreneurs were highly educated managers from
the corporate world who were given free access to the dabbawala system for observation and learning.

Changing the appeal of the delivery work and whom it could be targeted to had also been
introduced 2s 2 matter for consideration. There were increasing numbers of ‘educational and
professional opportunities in Mumbai, and the potential for tumover — something almost unheard of
in the past. Some candidates would train for the job but then leave when better opportunities came

twir way,
Meanwlile, the dabbmazlas taced changes in the prey 1of the meals they were to pick up and
deliver. In parucular, the increase in nuclear rather than extended family units and the explgdmg
e workforce resulted in fewer people being available to cook lunch in the
« woman's domain in India). To serve customers who preferred hom?-cooked
ourcs te cookang itself, the dabbawalas had begun to collaborate w“h, szpall
: provided general foods; they had even expanded to include specialized
e <zlone dues and regional cuisine. Further, they had permitted customers to use
s wsiead of the waditonal aluminum dabbas, as long as the dxme_nsxon_s were

. T sawelas tejected suggestions for backward integration (ie., for

P Lt GwT ouTens ), thelr expertise was in delivery,
Cuate was Ce wsus of whether the service should deliver more than lm}d\. Sev:’:il
Jasii connected with a few companies (e.g. Micrasoft N
deliver advertising brochures to offices along with the
valent of a couple of cents of revenue per lunch boi.
cai Ls iad even donned masks during a "deh\/lexy«;la)
v il expenmented with distributing product samples along
* i ties wens (lhe that for delivering the brochures) was
S 21 gzcas wire deliveries were made.

s Gt vl PR @ takang o tuse additional tasks and roles. The extra
g “::_:./._ 4., bix sieciany G fyexs 8 semiples 1o boses, as well as keeping the mmngprm?
prisbiopptie "—-s‘— SyRic Ll i grer, perticiaarty dunng mansoon scason or when dealing with

aunber Of WomEn Yoir
(radino

watl unsaliated offers like buy one dibb &et ane free. Customers will discontinue our service if we

Exhibit 2 The Dabbuwala Organization

Operational Committee Charitable Trust

"' Mumbaj Dabbe Nutan Mumbal Tiffin Box
Vahantuk Manqa/ . Suppliers Assoclation
Sopan Mare - President Raghunath Medge - President

| [

General Secretary ' ’ General Secretary

/

Treasurer

l

l . Director (6) /

Members
(5,000; including 635 supervisors)

Source:  Company documents.
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Exhibit1b  ISO Quality Certification of the Dabbawala System

Certificate of Registration

Fwe o pa revady M
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SUPPLIERS CHARITY TRUST

-
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ANDHEREIEAST), MUMBAL - 400 069 INDIEA

sty s B o st e gl {wamy Hamrproeeny s Namdrrd

1SO 9001:2000

her cerifaishe v rirad b s Fofhmainit Frondent se Sene ranger
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Source: Company documents.
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m.)m\a\. variability (rail strikes, road repairs, etc). 3 d

given increased security concerns, if dabbas had\\o be left behind 2t “‘:\5\::\“2\\:15 ga\;roi buil(;\: s
\here_was'nfv way of ensuring that the advertising materials would actually reach the cus\smgs'
creating billing issues. Moreover, the dabbawalas, being mostly illiterate, faced difficulty in co\\eck‘m.
payments from smaller and urveliable clients, who were also interested in piggybacking on \\%e
famed. delivery service. Increasingly, companies large and small had begun to approach the
organization, and one or two projects were undertaken each month. Prices were quoted based on the
complexity of the task and the number of dabbawalas involved. Projects that would likely upset the
dabbawalas’ delivery schedulé were rejected. Typically companies approached Joshi for such
promotions, and he made these decisions along with Sopan Mare, Raghunath Medge, and the
supervisors of those groups who would be involved in that promotion program. '

. Finally, the dabbawala organization had been forced to confront technology- in multiple guises. A
sophisticated city like Mumbai was awash in cell phones,S not to mention computer access of every
type. To date, Joshis website, set up in 2005, had generated inquiries for lectures and interviews, but
it could not be used for booking deliveries or placing orders. He was about to take on the issue again
in the ongoing meeting with his colleagues.

The January 15 Meeting

The managing committee had finished up its discussion of routine organizational and cperational
matters and, after a break, was poised to tum to Anil Joshi's presentation of some future issues, in
particular technology. The men would then discuss these matters and, Joshi hoped, make some
decisions. As he mentally rehearsed his proposals, Joshi consid d how he might, cnce again, make
his case as well as counter objections that would probably arise. The technology discussion was 2
familiar one to this group. He thought he knew how his colleagues would respond.

A good opening point, Joshi believed, would be proposing that the English-language website be
upgraded to include a payment gateway to facilitate Internet-based order booking. The site now
featured products such as dabbas, mugs, T-shirts, Gandhi caps, and a CD documenary of the
dabbawalas’ operations, all of which could be purchased by mailing in 2 check. With a payment
gateway, however, the website could generate regular income or even grow the business instead of
serving mostly as a publicity portal. That is, the site could also help manage sales-related activities,
collect paymients, and improve marketing, customer service, and overall suppert. Jeshi had read
about simple Customer Relatioriship Management systems that were widespread in the business
world. - g

While the committee members might be reluctant to embark on this approach to how deliverymen
would be paid and customer relationships managed, Joshi hoped that they could be persuaded t!'ut
the value of doing so was to the overall system'’s benefit—that it might preserve the dabbapalas
uniqueness. He also planned to propose 2 cell-phone-based. text mess2gNg service for order
inquiries, again to keep the commitment to service alive.
ral, the dabbawalss were ot convinced that these technological

But he knew that in gene )
suggestions, even in the guise of “customer enhancements,” would in fact benefit themselves. The

economte realites, at a minimum, made thase extensions diffcul, Joshi realized, as much as he
wished them to be gone. Many employees did not own cell pheres (much 1ess.ccmp\nexs), and the
few who did used them sparingly to ‘inimize costs; for most debbawalas, mastenng 2 technology was

—_—

india.net/ tel ),

(hitps/ [ www.k

6 [ May 2009, Mumbai had 2.5 mil ibers (http:/
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Quality Award for the Dabbuawala System

e At S o Tt B e Beiy THOrE
: Exhibit 1a

' P .
oneizhle {ev'av thought mastered the mmc:as af the;r d,ugr n-ork) 771e bottom line,
- bills for cell

they
JSoweres was St even if handset costs were
senvxe remained znaffordable to maost.
Alsg as others kad pointed out before, there was not even a list of all 5,000 dabhawalss (or their .
austamers). mach Jess ways of supporting or training them. Would Joshi’s proposals necessitate a 5
tachinalogy suppart group? Who would pay for it? Joshi thought he could tie up with some cell

tachnalogy TOup?

phore provider for getting free cell phone usage for group supervisors. Moreover, since most
members were unaducated, he also wanted to tie up with a nongovernmental organization (NGO).
The NGO could provide free classes in English and Hindi to develop basic skills such as reading and

T
writing simple text messages.
A repidly expanding cell phane netwark, Jashi thought, would enable online order booking and
cel-phone-based text inquiry systems, bo:h oppomzmus thal could be powerﬁxl and inevitable. The
ns and service

datboely’ system mxg‘n. “benefit
immovation, and possibly remain at the leading edge of ver) low-cnst, }ugh-quahky supply chain
systems. After all i world<lass companies like FedEx showed so much interest in the dabbawalas”

L0 the konch bax m“mm.mmmmm.wqmwmumw
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system, they must be doing something right. Right?
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Note:

registration.

clearly indica'ti;hg the name of module,
Page of eacl answer sheet.
Standard normal, tgible is to be provided.

e The question paper consists of Ten Modules (A-J). Module A is compulsory for all.
e The Candidates should attempt two more modules (from B to J) as per their

e The instructions for each module are given separately. In all, 7 questions are to be
attempted (3 from Module A & 2 each from other two Modules from B to ).

o Module A should be attempted on main answer sheet. -

e Other two Modules (from B to J) should be attempted on two other answer sheets

Roll no. & Name of Candidate on Cover

Module- A: I

LY

" QL. Answer the following:

ntroduction

' (Coirimon to All, Total Marks of this Module: 28)
Attempt Three Questions out of four in this module including Question no.1 which is
' COMPULSORY.

i. Explain the different steps involved in a research process emphasizing the

significance of each step.
ii. Differentiate between Descriptive
examples. ~

Q2. Answer the following:

and Conclusive research design with
[5+5=10]

i. A random variable has a normal distribution with standard deviation = 10. If

the probability that the random variabl

0.8212, what is the probability that it will take on a value less than 58.3?

ii.Collecting good data is the foundation
sense of it.” Discuss the relevance an
types of data in view of this statement.

Pagelo

e will take on a value more than 82.5 is

3]

on which you gather evidence and make
d types of qualitative and quantitative

[6]
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Q4. Differentiate between ‘I,':)l';owing: ,

i. Cluster Sampling and Stratified Sampling
ii. TypeIand Type II errors in the context of Hypothesis Testing :
iii. Quantitative and Qualitative Research Design 3x3 =9

Module B : Statistical Analysis
(Total Marks of this Module:21)

Attempt Two questions out of Three in this Module. Statistical table may be used.
Q5. From the following data obtain the estimate of X for Y=70 using linear
. regression analysis: [10.5]

X |65 |66 |67 |67 |68 |69 |70

72

Y |67 68 65 |68 |72 |72 |69 |71

6. What is hypothesis testing? Describe the types of errors which arise in testing.
In two large populations there are.30 and 25 percent respectively of blue-
eyed people. Is this difference likely to be hidden in samples of 1200 and 900

respectively from the two populations? [10.5]

lood phenotypes A, B; AB and O in a population are
pectively. However a random

Q

.Q7. The proportion of b
expected to be 0.41, 0.10, 0.04 and 0.45 res

sample of size 200 from this population gives the followiiig data:
B AB |O

18 12 |81

Phenotypes | A
No. of units | 89

Test' the ‘goodness-of-fit’ of these blood phenotype proponions at a = 0.05.
2 =1107, [10.5]

It is given that at 5% level x3 = 7.82, xi = 9.5 and ¥



"counter-example", later fixed by the introduction of the notion of uniform

continuity.
Identify the elements of aesthetics in interpretation of results in computational

thinking, technique and intellegence for the theoretical exposiéi,on of the problem
definition for a system of equations or steps for a problem of yopr research. [10.5]

Q10. a) Some supercomputers where divide unit is missihg because divide
operation takes many clock cycles. Suggest using computational technique
how such super computer will perform division in steps to find inverse of 90
using Newton-Raphson method.

b) Identify a set of parameters in selecting a topic for registration of PhD. problem.
‘What would be modalities in validationg your hypothesis using computaional
intellegence? What should be desired effects of quality and research policies?

[10.5]
MODULE D : Soft Computing
(Total Marks of this Module:21)
Attempt Two questions out of Three in this Module.

Ql1. (2) Explain with neat diagram Supervised, Unsupervised ‘aind Reinforcement
learning in NN. 3]

(b) Explain the training of Radial Basis Function Network algorithm with the
help of flowchart. - ' é 3]

(c) Using back-propagation network, find the new weighits for the network
shown below. It is presented with the input pattern [0, 1] and the target
outputis 1. [4.5]
Use a learning rare o= 0.25 and binary sigmoidal activafion function.

¥
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b) What is the significance of cross-tabs and when is it used? . [4]
¢) When does a researcher use ANOVA over T-tests? What type of independent

and dependent variable/es are a pre-requisite for ANOVA? [4.5]

Q22. o '
a)How the various types of variables are defined in SPSS? Explain the variables
using suitable exgmples? 5]

b)Differentiate between Parametric and Non-Parametric .tests in the context of
SPSS. Which tyﬁ)es of tests provide better understanding of the situations? [5.5]

MODULE H : RESEARCH IN ENGLISH LITERATURE
' ‘ (Total Marks of this Module:21)
Attempt Two questions out of Three in this Module.

Q23.Show your acﬁuaintance with any two of the following: [10.5]

a) Implication of theoretical basis in research in literature
b) Content anglysis

c) Literature review

d) Research questions

Q24. What do you mean by ‘research problem’? Bring out the implication of
the terms: Iden‘tiﬁcation of research problem, Defining of the research problem
and Formulatioy of the research problem. [10.5]

Q25. Write a reséarch proposal on the tentative subject of your choice. Include,

the essential details therein. [10.5)

)
MODULE I : DOCUMENTATION STYLE
. (Total Marks of this Module:21)
Atterpt Two questions out of Three in this Module.

| . : :
Q26. Show your acquaintance with any two of the following: [10.5] .

a) Structure of 4 thesis :

b) Distinction between MLA and APA Style of documenation
¢) Chronologica] Order of Bibliography

d) Chapterization of a thesis

Page 90f10




Q27.What do you mean by annotated bibliography? lllustrate your answer.
. [10.5]
Q28.Arrange the following according to APA stylc of docutnentation:  [10.5]
a) C. Muralikrishna and Sunita
Mishra/Pearson/2011/Chennai/Communication Skills for Engineers
b) Editor: K. Satchidanandan/Gesturcs: Poctry from SAARC

" Countries(Container)/ Kunwar Narayan: The Key to :
Success(Source)/2007/ Sahitya Akademi/Delhi
\

MODULE J : ETHNOGRAPHY
(Total Marks of this Module:21) |
Attempt Two questions out of Three in this Module.

Q29. Discuss similarity and differences between ‘Ethnograpﬁic Research’ and
“Case Study’ method of research with suitable example. ) [10.5]

Q30. How. will you use Ethnographic method in your area of research? Discuss
with suitable example. [10.5]

231. Whether Social Media may be considered as source of iﬂt"djmation in the
Ethnographic Research. Argue. [10.5]

END

Module C : Computational Techniques
(Total Marks of this Module:21)
Attempt Two questions out of Thres in this Module.

Q8. Define the domainion of education, knowledge, exploration and intellegence
with evaluation of natural, comutational, milletry and artificial intellegence
in research and its validation (NI, CI, MI, Al in RI). {10.5]

Q9. The computational technique has evolved in to the process of formulation of
problem for the.theoretical expositions discussed during the course of
research methodology:

In his book Cours d'Analyse Cauchy stressed the importance of rigor in
analysis. Rigor in this case meant the rejection of the principle of generality of
algebra (of earlier authors such as Euler and Lagrange) and its replacement by
geometry and infinitesimals. Cauchy was "the man who taught rigorous analysis
to all of world’. The book is frequently noted as being the first place that
inequalities, and arguments were introduced into Calculus. Cauchy defined
continuity as follows: The function f(x) is continuous with respect to (X) between
the given limits if, between these limits, an infinitely small increment in the

yariable always produces an infinitely small increment in the function itself. The
Ecole mandated the inclusion of infinitesimal methods against Cauchy's better -
- judgement. When the portion of the curriculum devoted to Analyse
Algébrique was reduced in 1825, Cauchy insisted on placing the topic of
continuous functions (and therefore also infinitesimals) at the beginning of the
Differential Calcullis. Cauchy continued to use infinitesimals in his own research
as late as 1853. Cauchy gave an explicit definition of an infinitesimal in terms o
a sequence tending to zero. There has been a vast body of literature written abou
Cauchy's notion of "infinitesimally small quantities”, arguing they lead fron
everything from the usual "epsilontic” definitions or to the notions of non-standar
analysis. The consensus is that Cauchy omitted or left implicit the important idea
to make clear the precise meaning of the infinitely small quantities he used. H
was the first to prove Taylor's theorem rigorously, establishing his well-know
form of the reméfnder. He wrote a textbook for his students at the Ecple
Polytechnique in which he developed the basic theorems of ‘mathematical anal.ysis
as rigorously as possible. In this book he gave the necessary and sufficient
condition for the existencé of a limit in the form that is still taught. Also Cauchy’s
well-known test for absolute convergence stems fiom this book.: Cauchy
condensation test. Iti 1829 he defined for the first time 2 complex function of a

complex variable. In spite of these, Cauchy’s ownl research papers oflen used ‘
intuitive, not rigorous, methods, thus one of Lors L2 wazs o2 LU

-




[b] Let the relation between input and output discussed in 3[a] is given by
(5.5]

following hypothesis:

h(x/?—':”"o +wW X, i=1,2,..,m
Where A(x,)is predicted value at point x,, W, and w, are parameters. Note
that X =[x, x,,...,x, ] and W =[Ws, w]. Let a column vector H of size m

x 1stores all predicted values. Then
H=[LX]W

Write MATLAB program (shortest) to generate vector H.

MODULE F : BIOTECHNOLOGY
(Total Marks of this Module:21) ;
Attempt Two questions out of Three in this Module.

Q17. Copying of research stuffs are not advisable, and tre'q{led as a criminal
offence, why? Describe the ethical issues related to plagiarism along with
conflict of interest and competing interest. [10.5]

merase chain reaction (PCR). Whit are the

Q18. Describe the technique of poly
different limiting factors in PCR reaction? What do you mean by HOT-start
PCR? [10.5]
xplain

NA, RNA and Protein from a tissue chunk? E
[10.5]

Q19.How would you extract D
ne delivery in a suitable host system.

the different methods of ge

DATA PROCESSING AND INTERPRETATION

(Total Marks of this Module:21)
t of Three in this Module.

Attempt Two questions ou

MOI_)ULE G:

fferences between groups and if those

Q20. '
a)The T test tells you how significant the di !
differences could have happerkt:d by chance. Do you agree with the statement?
Justify your answer. g [3]

S software.

b)Explain the various types of T-tests and their application using SPS o
12

Q21.
a) Explain the term degree of freedom?
page 80of 10
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Q12. (a) E‘x‘qg\a'\n the basic features of the
rite short note on fuzzyfication and dei\xzi\'é\ca{mn methods, &\

(b) Using Madaline netw i { i o
o ey to}:’k, \mg\emem KOR function .w.\\\\‘mpo\a‘ Inputs
gets. e the required parameters for training of the network.
The training pattern for XOR is given in table below. 4.5}

QI13. (a) Draw the flowchart for Genetic Algorithm. What the various types of
: - 16l

selection, crossover and mutation techniques?' ] ) )
(b) Design a Hebb netto implement OR function (consider bipolar inputs and

targets). The training pair for the OR function is given in Table below. [4.5]
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Module E: MATLAB
(Total Marks of this Module:21) v
Attempt Two questions out of Three in this Module.

Q14. Identify, whether the following statements are True/False. If required, give
one-line reason to support your answer
(2] Givenarandom real number X, the absolute value of the difference between

floor(X) 2nd ceil(X) must be 1. i
(6] Itis possible for 2 function to call itself within the body of its code. 1]
{c] MATLAB varizble name must begin with a letter. [1]
{d] The following code of MATLAB will plot sine curve with respect to X in the
range {0, 1000). [1.5]
x=10:1000;
¥ = cos(x);
ploix, y);
{e] The MATLAB statemen: %x=12,8,4;3,0,1 131,9,17°will create the inverse of
marixu=[28430] 1;1,9,1], &nd store in variable x. [1.5]
] Acellzmaycansipre clements with different datatypes and different lengths.
[1]
[e] The MATLAB function x= linprog(f, A, b) solves min f'*x such
that Aty <h [1.5]
(8] A function's workspace shares the fame workspace as the command
window, 1)

FegeEod 30

Ql15. Aﬁswer any 7O of the following

[a]

[b]

Consider the foHowing equation: : [5.5].
li

F=G

mm,
r2 .
Where G is a constant equal to 6.673x10", and m, m, and r are all arrays
of size n by 1. Write a function to calculate F. Also indicate whether F is
column vector, row vector, or a matrix. A
Consider the following 5 lines of code entered in the MATLAB command
I .
window: [5]
X=[7777];
Y =6:9;
W=3; .
Z=2;
V=g
What is the o:l}'t‘put when the following commands are typed in sequence from
: .

the MATLAB command window?

Qle.
[a]

+. obtain Z from X,

i) V~=x; () v=y;

(i) X+y7; (iv) V/iz*w;

V) 4*W/zr2+42; (vi) Z*[1:2:6];
Answer any TWO of the following
An experiment is performed m times. The researcher wishes to find the
relation between input and outcome. The experimental data is stored in a
matrix A of size 70 x 2. The values of input and output are stored in first
column and second column of A, respectively. Write MATLAB command
for separating input data X (vector) and output data Y (vector). Input data
can be mean adjusted by subtracting each data point with its mean value, Let
the mean adjpsted input data is stored in Z, Write MATLAB instruction to
(51

Page 7 of 10
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Answer any five questions.
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All questions carry equal marks.
g data, if any.

- tnna,
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Assume suitable missin

erentiate it from

Q1 Explain Herzberg’s Two factor theory and diff
_Masloyv’s Theory of need Hierarchy. :

Behavipﬁ. comment

Q2 Answer the following:
rs?

_ a. ‘Learning leads to-change in human:
_b. When should punishment be used by the manage :
ion of its consequences: Do you agree?WhY?

ity.

velopment of personal

c. ‘Behaviorisa funct
Q3 a. Discuss Freudian stages of de
T b W VOTJT—aEEI'gTTment‘ iS”'to—lay—off—t-hree—'employ.eesjr_l_ he .
u are managing. What perceptual errors should you
ge? :

! department yo
- watch for while
short notes on ;

delivering your messa

" Q4 Write
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QS How might underst
externa) locus of cont
Motivate, and lead the

A ernal or
as an int
anding whether an employee h

icate with,
rol help a manager better commun
employee?

Q6 As a manager, how wo

when
uld you deal with resistance to change
y

EE ded?
OU suspect employee fears of job'loss are Well foun

Q7 You are a busy partner in 3 legal firm, and an experienced Seiret::é

Complains of cdntinUEd headaches, drowsiness, dr.y thrcia , ol
OCcasional spells of fatigue and flu. She tells you she believes air qu |Z1
in the building is bag and would like something to be done. How wou
YOU respond?
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First Semester
'END- SEMESTER EXAMINATION - .

EMBA 102: Financial Accounting = |
g . Max. Marks: 60 :

Nowv. -2019 .

Time: 3:00 Hour .
LNote: Attempt all questions, All Questions carry equal marks..

Ques: 1 On 1" April, 2014, X Ltd. Purchased a machinery for Rs, 12,00;000. On'1* Oct,2016 , 2
part of the machinery purchased on 1% April 2014 for Rs 80,000 was sold for Rs 45,000 and 2
_new machinery at a cost of Rs1,58,000 was purchased-and installed on the 'same day. The
company has followed WDV method of depreciation @ 10% p.a. Show the necessary ledger

accounts if:
(A)Provision for depreciation account is maintained.

(B) Provision for depreciation account in not maintained.

Ques:2 Prepare Double column cash book with cash and bank columns from the following

information:
[ Year :2017 . e : il

Sept: 1 Cash in hand Rs 75,000 | Sept: 15 Goods purchased and paid . )
/ Bank Overdraft A Rs35,000 | Cheque* ., B - Rs 20,000 | .

g : Received Cash Discount ° Rs 472
[ Sept:2 Paid Wages ' Rs2,000 | Sept:20 Paid Rent* - Rs 5,000
/ Sept: 5 Cash Sales* Rs 70,000 | Sept: 25 Drew from bank for ‘
Allowed Cash Discount Rs 944 Personal uses Rs 4,000 |
" — | seépti0Cashdeposited into Sept:30 SalaryPaid R Rs 10,000 | -
L Bank Rs 40,000 ’ g :
Transactions marked with (*) are subject to levy'of CGST & IGST @ 6% each.

Ques 3: (2) Calculate Total Assets to Debt ratio from the, following information:

Total Debt: Rs 48,00,000
Shareholders’ Fund: Rs 8,00,000
Reserves & Surplus: ~ Rs 2,00,000 .
Current Assets: = Rs 20,00,000
Working Capital: Rs 4,00,000



Al
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() From e following information cateulate eredit period.

Total snjey for the year (Net): Rs 1,75,000
ash Sales (Nev: 20% of total net sales

Sales Tetum-out of credit sales: Rs 10,000
Sundry Debtors: .

Opching Balarice: Rs 8,000
Closing Balance: Ry 12,000
; : ' ial statements?
Quesd: Define Financial statements. Who are the users of financial s
e ' e : nt.
Ques 5: (a) Differentjate between cash book and cash flow stateme

(b) Journalise the following transactions in the books of Katnial:

: R T ‘ dishonoured and
' Gane_.sh informs Kamal that Sahani’s Promissory Notefor Rs 75,000 has been dis

) » 1e and withdraws the
that noting charges of Rs 250 haye been paid. Kamal sends Ganesh’s chequ
Promissory Note, , A -
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il oy Five questions. All questions carr
ompt _ 'y equal marks. Assume suitable missing data, !

AL
ot g
'  any three of the following:

1 Aﬂempt
Diﬁ‘erehtiat.e bettween sales and marketing.
o et contribution docs marketing make to the society?
. i i it ? - ° G
, what * matkPling Aucts What precautions a marketer must make while conducting

gils i arketing—aUdit?
‘ Explain major ethical concerns in contemporary marketing practices?
ht of the above

. e
of doing business has grown multi-folds in recent times”. In lig
telecom

ain how the marketing environment is affecting the firms operating in

2 statement’ expl
and FMCG sector?

at is the need for positioning a product/service? Which market segment
Je to @ commercial radio FM station specializihg in dance-

bases might be most
music and celebrity

licab

news/ gossip?
sustainable competitive

d exclusive distribution
and green tea?

ctive and sound distribution provide a long term
Differentiate between intensive, selective an
n channel/s for.a low cost laser printer

dia is expected to be around 200-250 crores. The
Blue Star, Eureka Forbs and Kent. In addition to

anized category. All the brands are collectively
promotion and focus on bringing the best

oes an effe
to a firm?
suitable distributio

4, HOW d
advantage
strategy- Design

5. The existing s1z€ of air purifier market in In
market is dominated by three major brands:

that, around sixty brands are present in unorg

making huge investments in educating the customers,

technology- In light of +he above facts:

[) What pricing strategy you would like to use for this product ?

tional mix for an‘unorganized player in this category with-estimated = ~
are free to make suitable assumptions-

of PLC, would you like to

Life Cycle PLC)? In which stage
tric car and a diesel car? Justify your answer in each case.

~II) Develop a suitable promo
budget of five lakhs. You

6. Explain the theory of Product
keep: a self driving car, an elec



(c)Draw Isoquants if the two factors of production (Labour and Capital) are:

(i) Perfect substitutes of each other

(ii) Perfect complementary goods of each other
Explain the two cases with special, focus on Marginal Rate of Technical
Substitution. ! : [6]

Q5. Attempt any TWO questions out of the fol.lowing:

(a)An amusement park charges different'prices for regular adm%ésion and a lower
price for senior citizens. What is this pricing scheme called? Critically analyse
this pric'mg'schg:me. What conditions 'are necessary for the amusement park to
practice this pricing strategy? [1+2+3]

(b) . Governments around the world often enact laws that restrict the prices that

businesses can legally charge their customers. One such example is that of the

minimum support prices that are set by the govemmeht. What is the welfare
ed in the market as a result of price ceiling?

6]

ing losses in the short run. The dilemma the

effect due to the shortages creat

Explain using diagram.

(c)A perfectly competitive firm is incurr

manager is facing is to either shut down the plant or to continue to operate. What

ision in such a situation. Explain with the

(6]

factors would affect the manager’s dec:

help of diagrams. :
' : END
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EMBA-104 MANAGERIAL ECONOMICS
Time: 3:00 Hours Max. Marks: 60

Note: Answer ALL questions. All questions carry equal Marks. Assume suitable
missing data, if any. . ..

Ql. Adapted from articles in newspapers, India Today, Livemint and Economic
Times, answer the questions that follow:

Profits of Vodafone Idea and Bharti Airtel have been hit and some rivals have gone
out of business since Reliance Industries’ Jio Infocomm unleashed a fierce price war
when it entered India's crowded telecoms market in 2016 with free calling and cut-

price data.

Competition levels in the telecom sector are set to ease significantly next year and the
industry blended average revenue per user (ARPU) likely to recover some lost ground
with Reliance Jio slated to pursue a less aggressive pricing strategy in calendar 2019,
global ratings agency, Fitch said.

Reliance Jio’s disruptive pricing since its entry more than two years ago forced the
older carriers to match rates to hold on to customers, galvanising consumption of
voice and data services. Fringe players that couldn’t withstand the brutal price wars
exited and the industry consolidated down to three large private players—Vodafone
Idea and Bhaﬁi Airtel among the older ones and Jio — making it an ideal market
situation for p}'icing power to return over time.

Vodafone idea, Bharti Airtel and Reliance Jio accounts for over 90% of the revenue
market share. Yet, the industry is suffering with losses of more than 40000crore.

Recently, Reliatice Jio Infocomm Ltd has raised basic monthly tariff plans to account

for interconnect usage charges (IUC) that the telecom operator has to incur for calls
made to rival networks. .

Analysts said the price rise bodes well for Bharti Airtel and Vodafone Idea which

have been comblaining that current tariffs are unsustainable and price repair must

happen in the sector.
The rival operators have still not increased thf/i: tariffs!

!
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7 Considerng tie d 20 as £ d in the above case, answer the following:
y ' . V% a

(a) Which market structure is represented by Telecom sector 1t India? Name one

most striking feature of this market structure highlighted in above case. [2]

b) Which behaviour of Airtel and Vodafone in retaliation to the pfice hike. l?y
Reliance Jio is highlighted in above case? Explain the impact of this behaviour
using suitable market structure model. [4]

) Assuming the three players decid

e to collude, how can it lead to joint profit

naximization? Do you think the situation of collusion will sustain for long?

Explain using diagrams. [6]-

) Attempt any TWO questions out of the following:

) Due to the recessionary conditions in the economy and the consequent reduction |

income of the consumers, the demand for generic foods increases and the demand
r organic foods decreases. Show the impact on the consumer’s purchase pattern for
\e two consoles using indifference curve analysis. Discuss the nature of the two

[6]

Q3. Attempt ahy TWO questions out of the following:

(a)How do mutual ‘funds help in reaping’ the benefit of economies of scale and
[6]

economies of scope? !
(b) Show total cost curves and average cost curves in two diagrams respectively

and explain the relationship between cost curves. [6]
(c)In 50 words differentiate between Economies of Scale (EOS) and Increasing

Returns to Scale? Explain in detail the factors that result in EOS. [6]

Q4. Attempt any TWO questions out of the following:
(a)Explain law of diminishing marginal returns with the help of a suitable example
and diagram. Why a producer chooses second stage of production? 6]

. (b) Assuming Price of output (Q) as $3 and Cost of Labour as $400, how will the:

producer choose the optimal inputs (Labour, L and Capital, K) to maximize its

00ds.
b) Briefly explain consumer’s equilibrium in case of two commodities. Also,
explain the Marginal Rate of Technical Substitution. i [6]
(c) Calculate cross price elasticity of demand between
(i) Inkpen and ballpen
(i1) Inkpen and ink
‘ Good Before After
Price (Rs/Unit Q'uantity Price Quantity
) (unit/month) _[(Rs/Unit) (unit/month)
Inkpen (Y) 5 15 2 20
Ballpen (X) 1 10 1 8
Inkpen (Z) 4 10 5 9
Ink (X) 5 15 5 10
Comment on the nature of goods. [6]

profits. [6]
K* L [aL | Q [mp. | ap |
I e B e e
2 TR
3 2 1 |28 [ [ 14|
2 3 1 a2 244 [ 164 |
2 4 1 [ 784 [202 - | 196
2 5 1 100 [ 316 | 220
2 6 1 1416 | 316 | 236
2 7 1 1708 | 292 244
2 8 1 1952 |24 244
2 9 1 2124 [ 1m 236
2 10 1 | 2200 | 76 220
2 11 1 |56 | a4 196 |

3/4



Star i iri .
bucks executives developed employee hiring and training programs that were

the best in the restaurant i S A

attend training classes t]m'tntde‘;i:}:yth::)nd:zt t;lrl\\?‘?\?\:ct‘;srsg\?e‘ an;;f)f r:umg\;gz&;z
but also the service oriented values of the company. Beyond th'\s‘,) Starbucks
provided progressive compensation policies that gave even part-time employees
stock option grants and medical benefits — a very innovative approach in an

industry where most employees are part time, earn minimum wage and have no
benefits.

Unlike many restaurant chains, which expanded very rapidly through franchising
arrangement once they have established a basic formula that appears to work,
Schultz believed that Starbucks needed to own its stores. Although it has
experimented with franchising arrangements in some countries, and some

situations in the United States such as at airports, the company still prefers to own
its own stores whenever possible. '

As the company grew, it started to develop a very sophisticated location strategy.
Detailed demographic analysis was used to identify the best locations for
Starbuck’s stores. The company expanded rapidly to capture as many premium
locations as possible before imitators. Astounding many observers, Starbucks
would even sometimes locate stores on opposite corners of the same busy street —
so that it could capture traffic going different directions down the street.

By 1995 with almost 700 stores across the United States, Starbucks began
exploring foreign opportunities. First stop was Japan, where Starbucks proved that
the basic value proposition could be applied to a different cultural setting (there
are now 600 stores in Japan). Next, Starbiicks embarked upon a rapid development
strategy in Asia and Europe. In late 2006, with 12,000 stores in operation, the
company announced that its long term goal was to have 40,000 stores worldwide.

Looking forward, it expects 50% of all new store openings to be outside of the
United. ‘

a) What business level strategies arid global s{rategiés at Starbucks’ help the
company to achieve superior financial performance? [©)

b) Identify the resources, capabil'\ties and distinctive ‘cOmpeter.xci.es .of
Starbucks? How do Starbucks’  resources, capabilities and distinctive

competencies translate into superior financial performange? 3)
¢) How secure is Starbucks’ competitive advantage? What are the barriers to
imitation here? ' ()

END

4
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25 WDy
] TMBA 0 - STRATRGIC MANAGENENT S
Time: 3 hours M Maks:,
Instructions: Answer all questions by selecting any two parts from each question
(Q.No. 1-4). Question No. 5 is compulsory. All questions carry equal marks.

1(2) Identify and explain the business model being adopted by the following
companies: ' '

‘i, Walt Disney

ii. Quikr

iii. Reliance 'Il‘elecom (6)
1(b) Assume you are in FMCG industry in India. On the basis of CAGE
framework, rank the following countries in which you should expand out of
Malaysia, Australia, Bazil, and China. Explain with suitable reasons. (6)

1(c) Stihl is the world’s leading manufacturer and marketer of chain saws with
annual sales exceeding $2 billion. With innovations, the company holds over 1,000
patents related to chain saws and outdoor power tools. The company’s products
“ are sold at price points well above competing brands and are sold only by its
network of 8,000 independent dealers. How would you characterize Stihl’s
competitive strategy? Explain your answer by giving advantages-

following cases:

and
disadvantages of this strategy. (O]
2(a) Identify with reasons, the type of corporate level strategy followed in the

i. Heidelberg Cement announced that its US subsidiary has entered into an
agreement with a US subsidiary of Cemex to buy Cemex’s northwest
materials business consisting of aggregate, asphalt and ready mix concrete
operations in Washington.

ii. A pioneer computer firm after achieving incredible growth has decided to

. take a breathihg spell. . .
iii. An old company had been facing financial issues for mony years and is
willing to give up ts independence in exchange for security. (6)

2(b) “Structure follows strategy™ or “strategy follows structure”. Which one of
these is true. Validate your point. ; ‘ 6)
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£ drispossible fora company o be the lowest cost producer in its industry and y They purposely priced their luxury cars much higher as part of their
\ samultancously ave an output that Iis valued by customers. 4 : campaign to represent Mercedes as a superior car. 6)
>~ 7 “Tumaround is all about converting a negative situation into a positive S LA At ; \
sitiation. ” 2 : () 4(c)(i) “Steel mini-mill operator Nucor Is considered as most cost efficient
\0 . . e ; . steelmaker in U.S. Its distinctive competency in low cost steel making does not
3(a) Identify and explain the international entry modes tq be adopted in the come from any specific resources. What distinguishes Nucor is its unique
.ﬁo\\o:e:.m cascs ' ; . ’ . capability to manage its resources in a highly productive manner.” In the light of
i.  American Locomotive company sold locomotives and diesel engines In the ab b ; N . {1+ 508 disliinel
Australia and got paid in cash, which according to the agreement with : 1o H90yE m atement, explain in what all ways a ‘company can aciieve istinctive
Australia, they were spent for purchase of Australian cutting tools from the competencies. (3)
same company. : s, o 2 . . . P
ii. McDonnell Douglas agreed to a deal with Thailand for eight top of the range 0 mwﬁ EE. M:a mm<m3~.HE.M:Mm.~ E“m_v\ o ﬂmM_S_acm which is used to a<m~cmu8
F /A — 18 strike aircraft. Thailand agreed to pay $578 million of the total cost company’s position vis-a-vis Its direct competitors. €
in cash, and McDonnell Douglas agreed to accept $93 million in a mixed bag 5. Recently, Starbucks’, the ubiquitous coffee retailer, closed a decade of
of goods including Thai rubber, ceramics, furniture, frozen chicken and astounding financial performance. Sales had increased from $697 million to $7.8
_ canned fruit. . - ) billion and net profits from $36 million to $540 million. In 2012, Starbucks’ was
iii. A private developer undertakes all activities necessary to produce a project, earning a return on invested capital of 25.5%, which was impressive by any
measure, and the company was forecasted to continue growing earnings and

maintain high profits through to the end of the decade. How did this come about?

Thirty years ago Starbucks was a single store in Seattle’s Pike Place Market selling
premium roasted coffee. Today it is a global roaster and retailer of coffee with
more than 12,000 retail stores, some 3,000 of which are to be found in 40 countries
outside the United States. Starbucks Corporation set out on its current course in

including land purchase, permits, plans and construction, and sells the ready
project to the housing authority. (6)

3(b) “Harley Davidson, GM, Walt Disney, and Digital Equipment Corporation
(DEC), among many others, which all at one time were held up an examples of

managerial excellence, have gone through periods where their financial
performance was poor and they clearly lacked any competitive advantage.” In the o .
light of the above statement, explain why does a company lose its competitive the Gmo.m when the compary m.Q:nQQ o.mEm:S::mu Howard .mQE:.N. came back
s ) H e ) : g X . from a trip to Italy enchanted with the Italian coffeehouse experience. Schultz, who
‘advantage and fail? How can a company avoid failure and build a sustainable i et . )
. el : later became CEO, persuaded the company’s owners to experiment with the
competitive advantage? 6) ; | s
g coffeehouse format—and the Starbucks experience was born. :
3(c) “A brilliant strategy can put 2 firm on the competitive map, but only solid Schultz’s basic insight was that people lacked a “third place” between home and
execution can keep it there.” Comment. ©) work where they could have their own personal time out, meet with friends, relax,
and have a sense of gathering. The business model that evolved out of this was to

4(2) Why was it profitable for GM and Ford to integrate backward into component- sell the company’s own premium roasted coffee, along with freshly brewed
parts manufzcturing in the past, and why are both companies now buying more of espresso-style coffee beverages, a variety of pastries, coffee accessories, teas, and
utside suppliers? What are the other ways through which a other products, in a coffeehouse setting. The company devoted, and continues to
6) devote, considerable attention to the design of its stores, so as to create a relaxed,
informal and comfortable atmosphere. Underlying this approach was a belief that

Starbucks was selling far more than coffee — it was selling an experience.

From the outset, Schultz also focused on providing superior customer service in
stores. Reasoning that motivated employees provide the best customer service,

3

heir parts from
company czn overcome limitations associated with vertical integration?

4(b) Explzin the type of offensive tactic highlighted in the following situations:
i HUL introduces Knorr instant noodles to compete E:_: Nestle Maggi.
if Toshiba used superior technology to upgrade picture quality standards to
iaunch a new range of televisions which used flat square tube technology.
2
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ational Fisher Effect
attributes that are forecasted in case-of-exchange rate prediction

Explaln
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D ollarization
Crawling Peg -
Managed Floats
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difference between the following w.r.t Foreign Exchange Markets

Ql%(a) .'Explain the
1. OTC market
2. Fundamental
3, Spread and Margin

) List various factors that affe

and exchange trade market
forecasting and technical forecasting of exchange rates

Q20 ct exchange rates. Provide explanation of each fa
Q3(@): Explain in detail various instruments of trade control with suitable examples

Q 3 (b): Explain the impact of FDI on both hos

examples

ctor.

t country and home country with

suitable
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actices affect international business? e

Q 4(a): Explain how behavioral pr
differences from both sensitivity i

Q 4 (b) : List the ways to deal with cultural ad;
Jug
tment

perspective as well as from strategic perspectives.

Q 5 (a) : Please explain how exchange rate movement affects business decisiong

Q5 (b) List down how exchange rate movement impacts a country at macro-econgm:
mic le
el

Q6 (a) Please explain in bri ;
_ plain in brief roles and functions of World Trad T
International Monetary Fund (IMF) ¢ Organization (WToy .
and

Q6 (b) What are trad
e blocs? What are motivations behind i '
_ : : regional economj mat;
any three and briefly explain about their objectives oo Aions? Nam
» g
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fime: 3 Hours Maximum Marks: 60

Noto ¢ Answer any 6 questions. All questions carry equal marks. .
~ Assume suitable missing data, if any.

- - Marks
Read the following narration to answer questions 1, 2 and 3: -

Dinesh Tukaram Unnati relaunched the company viz. DTU-Retail and expanded his family business in
all major cities of India. In beginning of 2019, company has more than 100 stores spread across India.
DTU-Retail aims to expand its operations to 500 stores in year 2020 and to improve its profitability.
Company is yet to gain full benefit of its heavy investment in Information Technology. You are
appointed as an IT advisor to guide the company on technology refresh initiatives 1o achieve its
strategic goal. You have observed cumbersome business processes and more than 20 Information
Systems that were developed in ad-hoc manner over the time are in operation. Collation of data from \
these system for meaningful analytics is difficult due to absence of integration points and data quality. \
Due to varied technologies of these systems, IT Department has engaged several vendors and have

employed number of employees including contractual resources, who are proficient in respective

technologies. IT Department yet 1o address perennial problems of frequent system breakdown, due to

hardware and network failure, that often results into data losses and online customers. To set house in

order, on priority, you have decided to: address data quality issues to have meaningful data for |
analytics; weed out liability processes; and to rationalize information system. . ' \]

. ' . |
Ql Discuss how Principles of Business continuity and DR Operation can help in  (10) \
avoiding frequent system breakdowns and loss of data to great extent. . \
Q2 Explain how would you use following methods for control and continuous 5
improvement of processes: ' ‘
[a] DMAIC - (5)
[b] PDCA , (5)
Q3 [a] Discuss why would you or not consider ERP solution for DTU-Retail? (5)
[b] Discuss benefits of CRM system (5)
Q4 [a] Describe dimension of Data Quality (5)
[b] What measures would you take to deal with data quality errors (5)
Q5 Describe the following with an example and metric (how to measure) each:
[a] Service Quality ' (5)
[b] Process Quality (5)
Q6 Describe the following with an example each in any business ecosystem:
[a] Keystone Firms ' (5)
[b] Niche Firms (5)
Q7 . Describe the usage of following technology:
: [a] Artificial Intelligence (5)

[b] Robotics Process Automation

(5)
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Qs Discuss role of Information Technology in addressing globa] COmplexitieS of
Supply Chair Management (10)
Qs Explain the following terms:
(a] MUSICAL
(bl Virtua) Company (5)

: ' (5)
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TITLE OF PAPER: Service Operations management

Time: 3:00 Hours , Max. Marks: 60
Note: Answer any five questlons T f £
All questlonq carry equal marks ( 6+6 = 12)

L
Q.1[a] = Identify the key differences between a service offering and a
physical product offering. '

[b] Enumerate the reasons for the
of the service sector.

growth and the current status

Q.2[a] What are Psychographic and Demographic bases of

Segmentation for the Service industry?
[b] Discuss - Mass - marketing and Niche marketing for an
organisation in the transportation services? . : _

>

Q.3 [a] ~Whatare the non—monetary aspects of Service Pricing?
[bl. - What is “Service Recovery Paradox’? How would you design

an effective Service Recovery System?

- Q.4 [a] . Discuss. the value added by Lﬂter*nechanes to the Se1v1ce

L T S S T 4
[b] What is the role of employees in “delivering the promise
with reference to the Services marketing Triangle?

2
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in the expanded

Q-5 [a] Discuss strategics for shifting 1Dem
service industry
[b] - What is the role of “Physical Tvxdcncc
Marketing Mix for Service or ganisations?

70

isation givi
Q.6 [a] Formulate the marketing strategy for an organisa giving

Healthcare service. , - :
[b]  Assess the usefulness of the SERVQUAL technique for

measuring quality in the hospifality industry.
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. ESCM-06 Business Process Re-engimeering
Time: 3 Houys Max. Marks: 60
Attempt any five questions. Al

Assume suitable missing data,

questions carry equal (12) Marks. \
if any.

Question 1. Explain the varjous st

. ages of Individual level of change. How
Dissatisfaction with the status quo i

mpacts the situation?
Question 2. ITC o
Reengineering. Expl
BPR initiative in a r

choupal was a game changer in Business Process

ain how ITC handled the challenges in implementing the
ural environment.

Question 3. Explain the various calegories of Change Levers. Also highlight
the credibility of the change agent and the usage of a change lever.

Question 4. Radical improvement is more powerful than incremental
improvement. Evaluate the statement.

-

—Question—5-With the help of Indian success stories highlight the role ot
[nformation Technology in Business Process Reengineering.

Question 6. Discuss the Value Stream Mapping in detail with the help of
an example.

Question 7. Write short notes on (any Two):
a) SIPOC

b) Gap Analysis
c) Fence Sitters

MLEMannmmﬂmm

i
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questions, All questions. carry equal marks.

Note: Answer. ALL:questions, Al =i 2y
L Assume suitable'missing datayifany. .

Q.1[a] Attempt any TWO of the following [343]

. Diffetentiate between e-business and ¢-commerce.

ii. Identity any three evolving technologics imp
Marketing environment. '

iii.What do you understand by pure electronic commerce
using suitable example.

[b]User Experience (UX) is the new enabler of Customer Satisfaction.

By investing in delivering an exceptional User lixperience, brands are

securing higher recurrihg usage, stronger engagement, higher App

ratings, and better conversions. Examine the statement while

acting Digital

? Explain

identifying the characteristics of online congumers. . [6]

Q.2[a] Attempf %my TWO of the following [3+3]

1. Explagn the different types of e-commerce organizations with
example.

ii. “New internet and social business models enable user content
creation and distribution, and support social networks.” Facilitating
social ilnferactions is one of the unique features of internet business
models today. Identify the other unique features of internet business
models. '

iii. What do you understand by collaborative commerce?

R

Page Lof 3



[b] Three most distinct concepts which define a marketplace transaction
include content, context and infrastructure. Choose any company and
. -assess its marketplace. ) . 5 . [6]

Q.3[a] Attempt any TWO of the following _ [3+3]
i. Identity the components of a typical website. Examine each
component.
ii. Design audience persona profile for a company providing office
spaces on demand.
iii.Define usability in context of website. Explain any one the
methods of usability.
{b] “In electronic commerce, businesses require to integrate two
Kinds of activities - ones that are embedded into the physical value
chains and the others that are built through information into the virtual
chain. Although the relative importance of these two kinds of chain
epends on the cheracteristics of the products and services, their
integration, nevertheless, plays a critical role in the success of e-
commerce”. Evaluate the statement by citing relevant examples.  [6].

Q.4(z2) Attempt 2ny TWO of the following [3+3]
i. Owned Media is 2ny media asset a company owns such as
Websites. Identify the Analytics tools and social metrics for Owned
Media
ii. Explzin digjtal revenue generation models. -
iii.Identify the characteristics of digital revolution.

[b) “In recent times creative industries management seems to have been
reshaped by the influence of information and communication

Page2of3

technology. Constant experimentation with business  models¥an

innovation in this area has become one of the key sources of firms®
_ competitive advantage. As a result, traditional business models, which
were dominant and stable in their respective industries, have given
rise to multiple disryptive business models”. Elaborate - [6]

Q.5[a] Attempt any TWO of the following [3+3]

i. Explain the concept of valug proposition.

ii. Identify the components of business model.

{ii.“You can never go wrong by investing in communities and the
human beings within them”. Examine the role of social media and
blogs in light of this statement.

[b] Choose any company and evaluate using Porter’s value chain  [6] -

Page3of3
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estion number 1 and Question number 2 are Compulsory.

Note: a) Qu
b) Choose any 3 questions to answers from remaining 4 questions
c) Assume suitable missing data, if any
Max Marks: 60

Time: 3:00 Hours
(1X10)

Choose the correct option.
he internet but do

imply buying and selling using t
ly to e-commerce?

Q.1 Multiple Choice Questions,
1) E-commerce is often seen as
the following perspectives also app
A. A business process perspective
B. An online per'spective

C. A communications perspective
D. A service persﬁective

E. All of the above

2) When you look at e-commerce and e-business, which is the most realistic

een these two concepts?

relationship betw

A. E-commerce is a subset of E-business

B. E-commerce has someé overlap with E-business \

C. E-commerce is broadly equivalent to E-business : ~
commerce ’i-

D. E-business is a subset of E-
E: None of the above
ent is becoming more accepted as'an important feature within

3) E-governm .
many countries. What does it provide?

government in
A. All of the above

B. Facilities for dissemination of informat

ion and online services at local and national

and government

levels : |
C. The facility to securely communicate between governments
departments ' |

e efficiently

D. The ability to gather taxes mor

page 10f3
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1) An example of a communications benefit from creating an e-commerce website is:
\. Lower paper costs needed for marketing and fewer staff needed in contact center
3. The ability to reach overseas markets without a sales preserice

”. Slower response to customer enquiries -

). Tracking of number of customers using different parts of site

=. None of the above is correct ’

5) Click and mortar business are?

A. Businesses that have only physical presence

B. Businesses that have both an online and an offline presence
C. Businesses that have neither online nor offline presence
D. None of above

6) Which one of these is not a part of organizational strategy?
A. Strategy Formulation

B. Strategy Imp\ementaﬁon

C. Strategy Assessment

D. Strategy Insurence

7) Which one is not 2 component of Operational CRM
A. Sales Force Automation (SFA)

B. Enterprise marketing automation (EMA)

C. Custgmer service and support (CSS)

D. Business Administration Processing (BAP)

8) Which process is responsible for discussing reports with customers showing
whether services have met

their targets?

A. Continual Service Improvement

B. Business Relationship Management
C. Service Level Management

D, Availzbility Management

9) is malicious software that criminals distribute to infect a large number
of hijacked Intemet connected computers controlled by hackers.
A. Page Hijacking

Page20f3

B. Denial of Service (DoS)
C. Botnet
D. Trojan Horse

10) Which one of these is not a part of Teritory Assignment?
A. Industry Based

B. Named Accounts

C. Department Based

D. Geography Based

Q.2 What is a-Payment Gateway and how is it different from a Payment Processor?

Explain briefly the different types of Payment Gateways with Example and list down

the limitations of pdyment gateways. (20)

Q3. What is the Porter’s Five Forces Model and Strategies? How is orgaﬁization
strategy relevant for E-business and E-commerce? Please list down the stages of
strategy. (10)

Q4. What is a CRM software and how is it beneficial to an E-commerce organization?
Describe briefly the purpose of territory management within B2B company.  (10)

Q5. You are an entrepreneur and starting a B2B company. What are the key laws and
regulations to be considered while operating an E-commerce business? Please list any

3 and briefly explain them. (10)
Q6. Write short notes on any of the 2: (10)
a) Any 2 technical malware attack methods
b) Cyber Warfare

¢) 3 benefits each to Consumers, Society and Organization

Page3of3
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Max. Marks:60

Time: 3:00Hours :
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N
stum'e suitable missing data, if any.

Q.I.Please explain by using relevant examples from you-r GXPerif'inCC,
how business analytics is more helpful in making business
decisions as compared to a gut-based decision in the contemporary

' - - 2]

business.
Q.2 A grocery retailer has to segment its 1.3 million loyalty card
‘customers into -5-different groups.based on their buying behavior, |

Income status, age, and gender. It will then adopt customized
gments in order to target

marketing strategies for each of these se

them more effectively.
“hypothesis-statement

Please assume relevant data wherever necessary and explain in 4

steps the overall-approach starting-from- the
and business analytics technique you will use,
[12]

Q.3We have the data from point of sales systemg recorded in quantity
sales day-by-day and some more variables like purchase accounts,
gender. The .store inanager



— TS
- nec ‘ in in 4
Please assume relevant data wherever necessary and explain 1‘ by
steps the overall approach starting from the hypothesis ste}temen

and business analytics technique you will use. 1o

Q.4An e-commerce company that mails expensive promotional offers to
customers would like to know whether a particular customer is
likely to respond to the offers or not. For example, they’ll want to

" know whether that consumer will be a “responder” or a “non-
responder.” In marketing, this is called propensity to response
modeling.

Please assume relevant data wherever necessary and explain in 4

steps the overall approach starting from the hypothesis statement
and business analytics technique you will use.

2]

Q.5Using an example of your own, please explain in 4 steps how you
can use a Decision Tree In strategic decision making.

[12]



